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Complex Funktions Examples c-2 Introduction

Introduction

This is the second book containing examples from the Theory of Complex Functions. The first topic
will be examples of the necessary general topological concepts. Then follow some examples of complex
functions, complex limits and complex line integrals. Finally, we reach the subject itself, namely the
analytic functions in general. The more specific properties of these analytic functions will be given in
the books to follow.

Even if I have tried to be careful about this text, it is impossible to avoid errors, in particular in the
first edition. It is my hope that the reader will show some understanding of my situation.

Leif Mejlbro
30th May 2008
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Complex Funktions Examples c-2 Some necessary theoretical results

1 Some necessary theoretical results

This chapter must not be considered as a replacement of the usual textbooks, concerning the theory
necessary for the examples. We shall always assume that all the fundamental definitions of continuity
etc. are well-known. Furthermore, we are also missing some theoretical results. The focus here is
solely on the most important theorems for this book. We start by quoting the three main theorems
for the continuous functions:

Theorem 1.1 If f : Q — C is continuous and the domain A C Q is compact, (i.e. closed and
bounded), then the range f(A) is also compact.

Theorem 1.2 If f : Q — C is continuous and the domain A C Q is connected, then the range f(A)
is also connected.

Theorem 1.3 Any continuous map f : Q — C is uniformly continuous on every compact subset

ACQ.

We see that the compact sets, i.e. the bounded and closed sets, are playing a central role in connection
with continuous functions. This is why we have given them the name compact sets.

The complex plane C is in a natural correspondence with the real plane R x R, by writing

z=z+1y €C, corresponding to (z,y) e RxR.

Today’s job market values ambitious, innovative, perceptive team players. Swedish
universities foster these qualities through a forward-thinking culture where you’re
close to the latest ideas and global trends.
Whatever your career goals may be, studying in Sweden will give you valuable
Swedish Institute ~~ skills and a competitive advantage for your future. www.studyinsweden.se
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Complex Funktions Examples c-2 Some necessary theoretical results

Then a complex function f(z) can also be written
f(2) = u(@,y) +iv(z,y),

where
u(z,y) = Re f(z) and v(z,y) = Im f(z)

are the real part and the imaginary part respectively of the complex function f(z) in the complex
variable z = = + iy € C.

In the same way we consider a plane curve C as both lying in C and in R x R. Since we formally have
by a splitting into the real part and the imaginary part

f(z)dz = {u(z,y) + iv(z,y) H{dr + idy} = {udr —vdy} +i{udy + vdzx},

we define the complex line integral along C by

/Cf(z)dz = /C{udx—vdy}—ki/c{udy—kvdx},

and then the complex line integral is reduced to a complex sum of of two ordinary real line integrals.

Definition 1.1 Assume that Q is an open non-empty subset of C, and let f : Q — C be a complex
function. If the limit

L 1) =1 (0)
258, A

exists for some given zo € €, then we say that f is differentiable at zg, and we use all the usual
notations of the derivative from the real analysis like e.g. [’ (2o).

If f : Q — C is differentiable at every z € Q, and the derivative f'(z) is continuous in Q, then we call
f an analytical function.

Then we have the following theorem:

Theorem 1.4 Assume that f(z) = u(x,y)+iv(z,y) is defined in an open set 2, and assume further-
more that both u(x,y) and v(x,y) are continuously differentiable with respect to both x and y. Then
the complex: function f(z) is an analytic function, if and only if the pair u(x,y) and v(x,y) fulfil the
Cauchy-Riemann equations in ):

ou Ov ou ov
= and =

ar oy du o
If we instead use polar coordinates,
xr=7-cosb, y=r-sinf,

in our description of a complex function, i.e.

£(2) = u(r.0) + iv(r, ),
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Complex Funktions Examples c-2 Some necessary theoretical results

then the same theorem still holds if and only if the Cauchy-Riemann equations in polar coordinates
are satisfied,

ou 1 0v 1 ou ov

o roe  rae o
One of the main theorems of the Theory of Complex Functions is

Theorem 1.5 CAUCHY’S INTEGRAL THEOREM. Assume that the function f(z) is analytic in a
simply connected domain € (this means roughly speaking that the domain does not contain “holes”),
then the value of the line integral

/Z: f(z)dz

is independent of the choice of the continuous and piecewise differentiable curve C in Q from the fixed
point zg € § to the fized point z € Q.

In in particular the curve is closed, then

fcf(z) dz = 0.

The next important result, which is given here, is also due to Cauchy:

Theorem 1.6 CAUCHY'S INTEGRAL FORMULA. Assume that f(z) is analytic in an open domain Q.
Assume that C is composed of simple and closed piecewise differentiable curves in ), run through in
such a way that all points inside C' (this means to the left of C' seen in the direction of the movement)
belong to 2.

Let zg be any point inside C' in the sense above. Then

f(20) = 1 (2) dz.

S 2mi Jo 2 — 2

We also mention

Theorem 1.7 THE MEAN VALUE THEOREM. The value of an analytic function f(z) at a point zg
s equal to the mean value of the function over any circle of centrum zo and radius v, assuming that
the closed disc B [z, 7] of centrum zy and radius r is contained in 2. We have for such r > 0,

1

2m )
f(20) = %/0 f(z0+7e?)do.

Finally, we mention

Theorem 1.8 CAUCHY'S INEQUALITIES. Assume that f(z) is analytic in a domain which contains
the closed disc
Blzo,r|={2€C ||z — 2| <71},

and let M, denote the maximum of |f(z)| on the circle |z — zo| = r. Then

!
‘f(n) (Zo)‘ <M, - n for every n € Ny.
,rTL
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2 'Topological concepts
Example 2.1 Let Q = {1, 2, 3, 4}. Find the smallest system of open sets in §2, such that

{1 {24 {1,2,3}

are all open sets.

We shall find the open system, which is generated by

{1, {24}, {1,2,3}

First of all, both () and Q must belong to the system.
Then all intersections must also be contained in the system, thus

{1} n{2,4} =0, {1} n{1,2,3} ={1}, {2,4} n{1,2, 3} ={2}.

By this process we conclude that {2} must also be open.
Finally, all unions of sets from the system must again be open. This gives

{1} U {2} = {13 2}3 {1} U {17 2, 3} = {L 2, 3}a
{1} u {2, 4} ={1, 2, 4}, {2} U {2, 4} = {2, 4},
{2} U {1, 2, 3} = {1, 2, 3}, {2, 4} U {17 2, 3} = {1, 2,3, 4} = Q.

We have now exhausted all possibilities, so the system of open sets must consist of the sets

0, {1}, {2}, {1, 2},
{2, 4}, {1,2, 3}, {1,2, 4}, Q={1,2, 3,4}

Example 2.2 Let f: R +— R be defined by

1

1@ =35

Prove that f is a contraction, and find the corresponding fixpoint.

We shall prove that there exists a constant C' < 1, such that

[f(@) = fy)l < Cle—yl.
By a small computation and an estimate,

1 1 2+ |yl —2— |z

_ N ‘ _ ‘ lyl — ||
2+ x| 2+ |yl 2+ [2z))(2+ lyl)

‘<2+ a2+ n| Sl

[f(x) = f(y)| -l

proving that the map is a contraction.

Now, f(x) > 0 for every x € R, so a fixpoint must necessarily be positive, thus |z| = 2. Then we shall
solve the equation

1
2+

=z, z > 0.
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This is equivalent to
2?4 2x =1, x>0,
hence
(x+1)2=24+22+1=2, x>0,
and thus
r==+2-1, x> 0.
It follows that the fixpoint is

r=v2-1.

www.job.oticon.dk
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Example 2.3 Let f: R xR — R be given by

2
f(z,y) = (2* +1)sinhy + = + %

Prove that the equation f(x,y) = 0 globally determines y as a function of x.

HINT: Prove for every fived x that f(x,y) is a continuous and strictly increasing function of y, which
takes on the value 0.

Then find by implicit differentiation the approxzimating polynomial of at most second degree for y as
a function of x from the point (xo,yo) = (0,0).

We see that f € C°(R x R) and
f;(x,y) = (x2 + 1) coshy +y > coshy +y > 0,

so f(xz,y) is for every fixed x strictly increasing in. Furthermore, we clearly have
f(z,y) = —oc0 for y — —c0  og f(z,y) = 400 for y — 400

for every fixed z. By the continuity there exists for every z € R precisely one y € R, such that
f(z,y) = 0. This is another way of saying that y is determined as a function of z.

Now let y = y(z) be given by the construction above. Then y(0) = 0, because (0,0) clearly satisfies
the equation, and because the solution is unique. Then we get by implicit differentiation,

d
{(m2 + 1) coshy + y} d—y + 2z sinhy +1=0.
x
If we here put (z,y) = (0,0) and solve with respect to the derivative, we get

dy

=->=-1.
dx

1

0

In general we get by another implicit differentiation,

& , dy\* d ,
{(x2+1)coshy}d—xz+{(gg2+1)smhy+1} (%) +4xcoshyd—i+2smhy:0.

d
If we here put (x, Y, d—y> = (0,0,—1), then we get by solving with respect to the second derivative,
x

ey

dx?

d?y

42| T h

=0

+1-14+40+0=0, hence
0

r=

The approximating polynomial of at most second degree form the point of expansion z = 0 is given
by

1
P(x)=—x— 5 z2.
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3 Complex Functions

Example 3.1 Let w = u+iv. Find in the following examples u(x,y) and v(x,y) as real functions in
two real variables:

(a) If z € C, then

w=u+iv=2"= (z+iy)® = 2> + 3iz?y — 3xy® — iy,
hence by a separation into real and imaginary parts
u(z,y) = 23 — 3xy? and v(x,y) = 3xy? — y°,
(b) If z € C\ {0}, then

T — 1y

, 1 z .
w-u—&—w-x—k;—z—l—ﬁ—x—i—zy—t—xz—w,

hence by separating into real and imaginary parts,

[r— x —
U(%Z/)—ﬂf‘f‘ma U<x’y)_y_9c2—+y2'
The function
1 n 1
w=—-|z+4+—
2 z
is also called Joukowski’s function.
(c) If z € C\ {1}, then
Y z 1+2z-1 1 1 r+1—1y
w=1u M = = = — — _
1+ 2 1+ 2 1+ 2z +iy (x+1)2 +y2’

hence by separating into real and imaginary parts,

(ry) =1 22 (z3) y
uz,y) =1— ————| v(z,y) = —————.
Y (2 + D7+ 32 EENIEERT

The function w = n is an example of an homography, also called a fractional linear transfor-

z

mation.

(d) If z € C, then
w = u-+iv=ze®=(x+iy)e®(cosy + i siny)

= xze®cosy—yeTsiny+i{xe siny +ye’ cosy},
hence by separation into real and imaginary parts,

u(z,y) =x e’ cosy —yesiny, v(z,y) = ze’siny + ye” cosy.

Download free books at BookBooN.com
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Example 3.2 Find f(z+1), f (%), and f(f(z)) for

@ JA =241 ) f =2 @ G =5 @) S
(a) If f(z) = z+1, then
fz+1)=2+2,
f(1>1+1z+1, for z # 0,
z z z
f(f(2)=fz+1)=2z+2
(b) If f(2) = 2%, then
fe+1)=(z+1)2=22+22+1,
f(l):_z’ for z # 0,
P P
f(f(2) = f (%) = 2*
(c) If f(2) = _, then
f(z—l—l):ﬁ, for z # —1,
f(l) =z, for z # 0,
P
f(f(z))—f<é>:z, for z # 0.
(d) If f(2) = g, then
f(z—i—l):1+§Z+B=2+j=—z1—27 for z # 0,
1
f<%>=1i_§=%, for z # 0 og 2 # 1,
Y AN =R E S

1—-2
for z # 0 and z # 1.

13
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2 maps the lines y = ¢, ¢ € Ry, into parabolas in the

Example 3.3 Prove that the function w = z
w-plane.

What is the image of the line y =07

2 \ i 2 3
-2

If we put z =t +ic, t € R, then
w=2%=(t+ic)® =t* — 4 2ict = u + v,
hence by separation into real and imaginary part,

u =t og v = 2ct.

If y = 0, thus ¢ = 0, we get u = t? and v = 0, so the image of y = 0 is R, U {0} “run through twice”.
If ¢ > 0, it follows by eliminating ¢ that we have the following equation of a parabola,

WWW.STUDYIN

Today’s job market values ambiti

universities foster these qualitie

close to the latest ideas and glob
SI, Whatever your career goals mz
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Example 3.4 Find the image of
QO ={ze€C||Re(z)| <1}
by the following maps

1
(a) w=2z+1, b) w=(1+1i)z+1, (¢c) w=—
z
z+1
d) w=2z* = .
@) w=2% () w=""r
Figure 1: The domain € is the open parallel strip between the lines x = —1 and z = 1.

(a) Since the map w = 2z + 4 is continuous, and 2 is connected, the range is by one of the main

theorems also connected.

Figure 2: (a) The image of ) is the open domain between the two vertical lines.

The map can be extended continuously to the boundary, and the map is an open map. It therefore

suffices to find the images of the boundary curves z = +1 + iy.

Since w = £2 + i(2y + 1), we conclude that the range is

{w € C||Re(w)| < 2}.

15
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320 [N

Figure 3: (b) The image of € is the open domain between the two oblique lines.

(b) The map w = (1 4 4)z + 1 is continuous and open. Therefore, it suffices as in (a) to find the
images of the boundary curves.
If we put z = —1 4 iy, y € R, then

w=14+i)(-1+iy)+1=—-1—i4+y(—-1+i)+1=—-i+yli—1).

This is a parametric description of a line through the points —i and —1 (put y = 0 and y = 1).
If we instead put z = 1 + iy, then

w=(1+i)(1+iy)+1=24i+(=1+1i)y,

which is the parametric description of a line. By putting y = 0, or y = 1, we get the points 2 + i
and 1+ 27, and it is easy to sketch the domain.

(c) Consider the map

1 T — 1y

w:;:m7 fOI‘Z?éO
The line z = —1 + iy is mapped into the curve of the parametric description
1 Yy
UZ_W7 U:—Tyy yeIRi,

hence y = B, since u # 0. Then
u
1
2
1+ (2)
u

or by some reformulation,

u -+ =0,

u? U 9 9 U 1\* 9 1\?
0:u+u2+v2:u2+v2 (u? 4+ v +u):m <u+2> +v <2) , u#0,

Download free books at BookBooN.com
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which we also write as

1\” 1\*
<u—|—§) +v2:<§), u # 0.

1
The image curve is therefore a circle (with the exception of one point) of centrum — 3 and radius

1
7 and where u # 0.

" 08

Figure 4: (¢) The domain  is mapped into the open domain outside the two discs.

Analogously, the line z = iy is mapped into the curve of the parametric description

1 Y
=—, =— : €R,
T ‘ 1+y? Y

v
hence y = - # 0, and thus

v
1+

which we write as

2 2
(u—%) —&-02:(%) , u # 0.

1 1
Hence the image curve is a part of a circle of centrum 3 and radius ok and where u # 0.

The map is open, so we get by a continuity argument (use e.g. that z = i is mapped into w = —1)
it follows that the range is the open domain outside the two discs.

NOTICE that the point z = 0 must be removed from the domain |Re(z)| < 1, because the map is
not defined at that point.

(d) The map w = 222 is continuous. If we put z = —1 + iy, then
w=2(-1+iy)* =2 (1- y2) — 4iy,
hence by separation into real and imaginary part,

u =2 (1 - yg) and v = —4y.

Download free books at BookBooN.com
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i
e
UG5 115 225
H
|

Figure 5: (d) The domain €2 is mapped onto the open interior of the parabola.

When y is eliminated, i.e. when we put y = —%, then
2
=2 %,

which is the equation of a parabola in the (u,v)-plane.
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We conclude by the symmetry about (0, 0)

—1 < Re(z) <0 and
are identical.

Finally, if we put z = iy (in §2), then w =
negative real axis, run through twice.

By a continuity argument (e.g. by putting z

the image is the interior of the parabola.

that the image of the strips

0 <Re(z) <1

—2y%, y € R, which is a parametric description of the

= 1 which is mapped into w = 1), we conclude that

Figure 6: (e) The domain (2 is mapped into that part of the open left hand half plane determined by

the line z = 1, also lying outside the disc.

(e) Finally, we consider the transformation

z+1
—-1’

z

z# 1.

If we put z = —1 + iy, then
by oy
—2+iy  4+y?

w=u-+1v=

(~2-

iy) = 152 (v* — 2iy) .

We get by a separation into real and imaginary parts,

we Uy e W
4+y2 4+y2’

y € R.

If y =0, we get u = v = 0, corresponding to the point w = 0.

Ify;«fé07ther1v;«ré0,andE
v

—%7 thus y = —2 E. Then by insertion,
v

u u
2y 4y v
0 = v+4+ 3 =0 2 =0 3
Y 4442 1+ =
v
- w v 5 o
= Vi T (u® 4+ v* —u), v #0,
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and we conclude that

1\2 1\2
('U,g) +’U2: <§> ) 1)7&0,
. . . 1 1
which describes a part of a circle of radius 3 and centrum <§, 0) and v # 0.

Notice that (0,0) lies on the closure of this circle.

Finally, put z = 1 +dy. If y # 0, then

2+iy _ 2
iy y’

which apart from the point (u,v) = (1,0) corresponds to the line u = 1.

Summing up, the range is that domain which “lies between” the circle and the vertical straight
line w = 1, thus the range is a part of the open left half plane given by u = 1, and which also lies

outside the closed disc of centrum 3 and radius 3

o
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Example 3.5 Find the image of
D={zeC|1<Im(z) <2}

by the following maps:

(a) w=2z+1, b)) w=>0+14i)z+1, (c)w:%7
z+1
(d) w =222 (e)w:Z_l.

25

Figure 7: The domain (2 is the open parallel strip between the two horizontal lines.

Figure 8: (a) The image of € is the open parallel strip between the two horizontal lines.

(a) If Im(z) €]1,2], then
Im(w) = 2Im(z) + 1 €]3, 5],

hence the strip 1 < Im(z) < 2 is mapped onto the strip 3 < Im(w) < 5.
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Figure 9: (b) The domain 2 is mapped into the open oblique parallel strip.

(b) The strip 1 < Im(z) < 2 has the boundary curves y = 1 and y = 2. If we put z = x + 4, then
w=(1+i)(x+i)+1=0+)r+i—-14+1=i+ (1 +1)z, z eR.
If we put z = x + 24, then
w=1+i)(x+2)+1=>1+dz+2i—2+1=1+d)z—1+ 2 z e R

The range is the domain between these two parallel lines.

Figure 10: (¢) The domain € is mapped into the open half moon between the two circles.

(c) Consider the map

1 T — 1y
w:;:$2+y27 (m7y)7é(0’0)

The curve x = x + ¢ is mapped into

T —1

o241
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hence by separation into real and imaginary part,

1

u=x2—+1 and ’U:—w2—“, v < 0.
. . o u
This gives fas © = ——, hence
v
1 2
v+ -0 w<o.

z2+1:v+u2+v2

This equation is then in the usual way written in the form

2 2
1 1
2
- =1z <0
o) =) e
A . . { 1
which is the equation of (a part of) a circle of centrum ~5 and radius 3 and where v < 0.

The curve z = x + 2i is mapped into

x — 21

'lU:'U/+7;'U::EQ——|_4,

hence by separation into real and imaginary part,

oz 2
oz 44’ T era
When we eliminate z = —2 ﬁ’ v < 0, we get
v
0 + 2 + 2v° Y (41}2 + 4u® + 21}) v <0
=0 _— =0 = 5 .
u\? o2 4+ 4u? 4 (v +u?)
4+ (2- —)
v
Hence
2 2
1 1 1 1
2, .2 2
— _— = — = — 0
u+v+2v—|—16 u—|—<v—|—4) (4), v <0,
which is the equation of (a part of) a circle with w = — % its centrum and radius 7 and where
v < 0.

It follows by a trivial estimate that the range is bounded, hence the range must by the open half
moon shaped domain between the two circles.

(d) We consider the map w = 222, The strip 1 < Im(z) < 2 has the boundary curves y = 1 and
y=2. If weput z=x+1, x € R, then

w=2(x+1)?=2(2* — 1) + diz = u +iv,
hence by separation into real and imaginary part,

w=2x%—-2 and v =4x.
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Figure 11: (d) The image of  is the open domain between the two arcs of parabolas.

When we eliminate the parameter =, we get the equation of the parabola

2

Y
=3

If instead we put x = x + 2i, then
w=2(z +2i)° =2 (2° — 4) + 8iz = u + iv,
hence by separation into real and imaginary part,

u=2z>—8 og v = 8.

o
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When we eliminate the parameter x, we get the equation of the parabola

2

u=——28.

32

A continuity argument then shows that the image is the open domain between the two parabolas.
(e) Finally, consider the transformation

1
w=i z # 1.

z—1’
The boundary curve z = x + 7 is mapped into

r+1+i (z+1+i)(x—1—1) % —2i ,
w = - = = =u—+w.
x—1+41 (x—1)2+1 (z—1)2+1

By separation of the real and the imaginary part we get

2
2
u:x7>0 and V= —

@_1211° CESIEES I

and

2
E:fx—, thus a:::l:,/f2g.
v 2 v

On the other hand, if follows from the expression of v that

2
1?2 =-1-=.
(z—1) 5

If we here put x = 4+, /-2 E, then
V v
2
I - Sty L |
v v v

which is reduced to

2 1-—
19 /723:_72E+2:2.ﬂ7
voow v v

thus to

4] ot _l¥v-u
v v

Then by a squaring,

1
,23:—2(1+U2+u2+2v—2u72uv),
v v

thus

—2uv = u? +0? —2u+20+1—2uw,
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057

Figure 12: (e) The image of € is the open half moon shaped domain between the two circles.

which we write as
(u—1)72+(v+1)?2 =1, v <0,

describing (a part of) a circle of radius 1 and centrum (1, —1), and v < 0.

The curve z = x + 2¢ is mapped into

w_x+1+2i_(;v+1+2i)(x—1—2i)_x2+3—4i_u+w b0
S x—1+2 (x—1)2+4 S (x—-1)2+4 ’ ’

hence by separation into real and imaginary part,

22+ 3 -0 4 <0
= = .
(r—1)2+4 ’ (x—1)2+4
Then
U 1, ., . 9 U
—:——(x —l—3), ie. 5 =—-4— -3,
v 4 v
hence
r== —43—3,
c

and (v —1)? = 4 — 4, so
v

2
4
—Z 4= (z-1)2= (i,/—4“—3—1> =4 _3ga /-4t _341,
v v v v

which is reduced to

4 2402
i2,/—43—3=—+4—43—2:2(y>.
v v v v

Download free books at BookBooN.com

26



Please click the advert

Complex Funktions Examples c-2 Complex Functions

First we remove the common factor 2. Then we square once more,

2+v-2u\’ 1
4% 3= <y> — — {4u® — duv — 8u+v® + dv + 4},
v v

hence

v

—Aduw — 3v? = 4u? — duv + v? — 8u + 4v + 4,

which

again is rewritten as

1 1
= 4u2+4v2—8u—|—4v+4:4{u2—2u+1+v2—|—v+———}

4 4
) 1\* [/1)°
= 4¢(u—1)"+ v+§ |3 ; v <0,
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and we end up with the equation of (a part of) a circle,

NN 1\’
—1)? =) =(=z 0
(u—1) —|—<’U—|—2> (2) ) v <0,
1 o1
of centrum | 1, —3 and radius 3’ and where v < 0.

Since the range is bounded, it must lie between the two circles.

Remark 3.1 We ought to have checked all our results. However, we shall later in another book in
this Complex series obtain the same results in a much easier way by using the theory of conformal
mapping, so we shall not bother with these tests. ¢

Example 3.6 Find the image of the unit disc
O={zeC||z| <1}

by the following maps:

(a) w=2z+1, b) w=(1+1i)z+1, (c)w:%7
9 ozt
(d) w=2z%, (e)w—271.

g
!
d

s

Figure 13: (a) The image of the open disc of centrum i and radius 2.

(a) When we solve the equation with respect to z we get
1 . )
|z| = §|w71| <1, hence |lw—i| < 2.

The image is the open disc of centrum i ~ (0, 1) and radius 2.
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Figure 14: (b) The image of the open disc of centrum 1 and radius v/2.

(b) By solving the equation with respect to z we get

w—1
z =
144’
thus
Hl= Ljw-1<1, n w—1| < V2
2= —=|w — 5 ence w — .
V2

.
s &
= F
| \" Y

27
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The range is the open disc of centrum w = 1 and radius /2.

2

AR
1%

Figure 15: (c¢) The image is the open complementary set of a disc w| > 1.

1
(c) Here, |z| = ] < 1,80 |w| > 1 and z # 0. The image is the open complementary set of the disc
w

of centrum 0 and radius 1.

Figure 16: (d) The image is the open disc of centrum 0 and radius 2.

(d) It follows that |w| = ‘22’2’ < 2, hence the range is the open disc of centrum w = 0 and radius 2.

(e) We shall find the image of the boundary curve of the parametric description
z=e", 0 €10, 2x].

We get by insertion,

. -9 9
e 41 e'z +e 'z 2(305% )

W= — = — — = —— = —j CcoS —.
e —1 iy _pmig 2% smg 2

We conclude that the image of the boundary curve is the imaginary axis. Since z = 0 is mapped
into w = —1, we conclude by the continuity that the range is the left hand half plane.
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Figure 17: (e) The image of € is the open left hand half plane.

Example 3.7 Find the equations of the curves in the (x,y)-plane, which by
z=w-+e"

are mapped into u = constant and v = constant, respectively.

What is corresponding to the straight lines v =0 and v =7?¢

If we put z = z + iy and w = u + v, then
z=zx4+iy=w+e’ =u+iv+ e =u+4iv+e“cosv+ietsinv.

By separation into real and imaginary part we get

T =u-+e"cosv, y=uv+e“sinv.

Figure 18: The images of the curves u = k for k = —1, 0 and 1.

If u=Fk, and v € R is considered as a parameter, we get the parametric description

z=k+ e cosv, y=v+eFsinv, v € R,
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Figure 19: The images of the curves v = k for k = 0, and 7.

)

T m 37
4727 4

which cannot be further reduced.
If v==Fk, and u € R is considered as a parameter, then

r =u+ e*cosk, y==k+e“sink, u e R.
If sink # 0, i.e. v =k # pm, p € Z, then

_y—k
"~ sink’

eu

S11

dvs. u=1In (y :) , forudsat, at 4

sin k > 0.

Hence we obtain the explicit expression of the curve,

x:ln(y_k)—i—‘z_;kcosk:ln(z__—k)—i-(y—k)cotk fory_k>0

sin k ink ink

-3 -2 -1 1 2 3

Figure 20: The images of the curves v = k for k = —27, —m, 0, 7 and 27.

If v =2pm, p € Z, then

r=u+e" and y = 2pm, u € R.
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Now, = = e" + u runs through all of R, when u runs through R, so the curve is the horizontal line
y = 2pw. This is in particular true p = 0, so in this case the curve is the whole of the x-axis.

If v=2p+ 1), p € Z, then

r=u—e" and y=(2p+ 1)m, u € R.

Since
dx
—=1-e"
du
we conclude that the function z(u) has a maximum for u = 0, corresponding to = —1, and since

x(u) — —oo for u — 400 and for u — —oo, we conclude that the half lines
r< -1, y=(2p+1), p €,

are run through twice. This is in particular true for p = 0.
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Example 3.8 Sketch the curves
u(x,y) = constant and wv(x,y) = constant

in the z-plane for the following functions:

(@) fx)=-, () fle)=2 (o flz)=(01~-2)z

Figure 21: (a) The level curves of the dipole.

(a) We must clearly assume that z # 0. Once this is done we get

1 1 z T — 1y
Z)=-—-=—+-— = .
1(z) z oz Z x242
Then we separate the real and the imaginary parts,
T Y
s — and =——.
u(,y) e n v(w,y) R

The curves u(z,y) = 0 are the two half lines given by

z =0, y?é07

thus the positive and the negative imaginary axis.

1
If ¢ # 0, then u(z,y) = % is equivalent to 2cx = x? + y2, thus
c

(‘T_C)2+y2 2627 (‘rvy) # (070)7

and the level curve is a circle of centrum (c¢,0) and radius |c|, with the exception of the singular
point (0, 0).

Analogously, v(x,y) = 0 is described by the two half lines given by

I%(), y:07
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thus the positive and the negative part of the real axis.

1
If ¢ # 0, then v(z,y) = % is equivalent to (notice the change of sign)
c

x2—|—(y+0)2 :CZ’ (z,y) # (0,0),

which describes a circle of centrum (0, —c) and radius |¢| with the exception of the singular point
(0,0).

Remark 3.2 These level curves are the model of the field around a dipole. O

Figure 22: The level curves of (b).

(b) Here, u(z,y) =« and v(z,y) = y, thus the level curves are the usual axis parallel lines.

-5 = - o,

Figure 23: The level curves of (c).

(c) It

f(z2) = (1=20)z = (1-2i)(x +iy) = =+ 2y +i(-22 + y)
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then it follows by a separation into real and imaginary parts,
u(z,y) =x+ 2y and v(x,y) = -2z +y.
The level curves are the straight lines

w(z,y) =x+2y=c, v(z,y) = -2z + ¢, ceR.

Remark 3.3 We see in all three cases that apart from the singular point z = 0 in (a), every curve
from one system of curves is always perpendicular on any curve from the other system of curves. ¢.

Example 3.9 Sketch the curves u(xz,y) = constant and v(x,y) = constant in the z-plane for the
following functions,

zZ+1
z—1

N\
N

Figure 24: The level curves of (a).

(@) fl2)=2% (0 fe)=2+2" () fl2)=

(a) We get by a separation into real and imaginary part,
uz,y) =a® —y*  og  v(w,y) = 2zy.

The level curves u = k form a family of hyperbolas and the straight lines y = z and y = —=.

The level curves v = k are also a family of hyperbolas with the axes added.

We see that apart from in the singular point (0,0), every curve from one system of curves is always
orthogonal to any curve from the other system of curves.

(b) We first compute
utiv=z+22=2% —y* + o +i(2zy +y).
We get by a separation into real and imaginary part,

1

1 2
_ 2 _ 2: - _ 2__
u(z,y) =z +z—y (w+2) v -3
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Figure 25: The level curves of (b).

and

1
v=2xy+y=2y<x+§),

1
thus the curves are the same as in (a), only the centrum has been translated to (—5, 0).
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(c) If z # 4, then

z+1 2i 2i(z + {1 —y}) 2(y — 1) + 2ix
= =1 — =1 - -~ v/ -1 _—
1) z—1 +z—i + 22+ (y—1)2 +x2+(y—1)2

Then by separation into the real and the imaginary parts,

2(y — 1) 2x

B sy i 1 I e 1

It follows that the curve u(z,y) = 1 is the line y = 1, with the exception of the point (0, 1), in
which the denominator is always 0.

o

Figure 26: The level curves of (c), i.e. a field around a dipole at the point (0, 1).

We get for the level curve u(x,y) =1+ k, k # 0, that

2y —1)

= ma (z,y) # (0,1),

thus

1 1

PGS Dt = (@) £,

which we also write
1\* 1

k+1
This is the equation of a circle of centrum <0, %) and radius with the exception of the

1
||’
singular point (0, 1).

The case v(z,y) = k is treated analogously.
If v =0, then z = 0 (i.e. the y-axis), with the exception of the singular point (0, 1).
If v =k # 0, then we get instead,

P17 =22 (my) £ 0.1,
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which is written as the equation of (a part of) a circle,
1\? 1
(+-3) +o-12=5 @O,

1
of centrum ( —, 1 | and radius i
k ||

Remark 3.4 The example corresponds to a dipole at z =i.
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4 Limits
Example 4.1 Check if the following limits exist:
z 24 =222 41
lim — b im ——
(@) lim =, (b)) lim ———

(a) Put z =2 +iy # 0. Then
Ty
T+iy

ISINIRS]

If in particular we choose z real, z = x, we get

z . T
- =1, hence lim — = 1.
z z—0 T

If we instead choose z imaginary, z = iy, then

hvoraf lim W_ —1.

z -y 1
z iy y—0 gy

Since we do not get the same limit value by the two different limits towards the same point, the

limit value does not exist for z — 0, by the definition.
(b) Since
-2+ 1= (2% - 1)2 = (z4+1)%(z - 1)%

it follows for z # —1 that

2 _ 2 2 1
% =(z+1)(z=1)°=0-(-1)>=0  forz— —L
Hence the limit value exists ant
4 2 2 1
z——1 z+1

Example 4.2 Check if any of the following functions (defined for z # 0), can be extended continuously

to z = 0:
@ Py 2 BBy 2Rl
z |2’ 2> 2
(a) Since e.g.
Re(z) = 1 for y =0 and x # 0,
o T iy 0 for z =0 and y # 0,

we cannot extend this function continuously to z = 0.

40
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(b) Since e.g.
1 for y =0 and x > 0,
g -1 for y =0 and = < 0,
we cannot extend this function continuously to z = 0.
(c) Since e.g.

Re (22) 2% — 2 1 for y =0 and x # 0,

2 T 2 2
2] ety -1 for x = 0 and y # 0,

we cannot extend this function continuously to z = 0.

(d) Since
Re(z) |z
= <1 for every z # 0,
‘ 2] Va2 4 y?
we get
ZITG(Z)—O‘— ZFTQ(Z) <l|z|-1—=0 for z — 0,
z z

and we conclude that this function can be extended continuously to z = 0 with the value f(0) = 0.

Example 4.3 Check if the following limit values exist. In the case of existence, find the limit value:

@ tm “2 @) tm i, (@ lim n<1+i>2.

no+too M" n—-+o00 n—-+o00 n

(a) We shall prove that the limit value is 0, thus
la, — 0] < ¢ for every n > N(e).
This follows easily from the following trivial estimate

nli"

|an, — 0 = [an| =

nn
for n — 4o00. This proves that the limit value exists and that

. nli™
lim =0
n—+oco N

(b) Since the sequence repeats cyclical the values i, —1, —i and 2, the limit value does not exist.
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(c) We shall prove that the limit value also in this case is 0, thus we shall prove that
|an, — 0] =]a,| — 0 for n — +oo.

This follows from

(l—i-i)n
n
n

If n > 2, er /2 < n, then

(8" <() -2

Hence, for n > 2,

lan| =

n—1
2 2 2
|an—0:\/§-<%> §\/§~§:ﬁ—>0 for n — +oo.

We conclude that the limit value exists and that

Example 4.4 Check if lim,,_, . 2z, exists for any of the following sequences (z), and in case of
existence, find the limit value.

(b) zn:exp(an>7 (¢) zp = (1;”)”, (d) z, =exp (i{n*+n}m).

We first note that z, is defined for every n € N in all four cases.

in
- converges towards the limit value 0. In fact,

Th n=—5—
(a) The sequence z i

1
n———>0 for n — +o0.

n n
- < — = — =
VRr+1 = vt n? n

0< |z, — 0| = |2n| =

(b) Since this sequence repeats cyclically the numbers

141 e 1 —1—1 1—1

’ 2y ’ ) =
V2 V2 V2

it is divergent.

1 . n
(c) The sequence z,, = < IZ) converges towards the limit value 0. In fact,

2 n
O§|zn—0|—|zn—<§> -0 for n — +oco.
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(d) Since n? +n =n(n+ 1) in an even number for every n € N, we see that

zn = exp (i {n® + n} ) = exp(2ipm) = 1 for every n € N,

where 2p = n(n +1).
The constant sequence is of course convergent with the limit value 1.

Example 4.5 Check if lim,_, ;o 2 exists for any of the following sequences (zy), and find the limit
value if it exists:

@ (

e () e ()

(a) Tt is well-known that

1\" 1
<1+—> 21+<n>—:2,
n 1 /) n

SO
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and we conclude that the sequence is divergent,

1 n
<1+—> — 400 for n — +o0.
n

>1 for every n,

any possible limit value cannot be 0. Since
i 1
Arg |14 — ) = Arctan —,
n n

we get

2

arg (1 + %) = {nQArctan - +2pr|p€ Z} .

Here,

1 11 1 1 1
nArctan — =n?d{ - — - . — 1o = —n—— 1o
n n 3 nd n3 n

)

1
and it is almost obvious that the sequence with the elements n?Arctan — (mod 27) does not have
n

n2

a limit value. Thus, Arg(l + —) does not converge, and since the limit value cannot be zero
n

for (z,), we conclude that (z,) is not convergent. (The angle is “turning” all the time).

c) Since

and
1 m
1+ — —e for m — o0,
m

we conclude that

. n2
(1+3)

n
Addition to (b) If we instead consider

2mi\™
Zn= 1+ — , n €N,
n

— /e

lim
n—-+oo

44
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then the sequence becomes convergent. In fact, since n? € N, we get

211 n 472 " 472 i
el = 2o = Vi) e
27
an?
1 2
= 14+ —5 — exp (271' ) for n — 400,
n
4m?

and if we put z, = |z,| exp (i0,,), then

211 2
0, = n’Arg (1 + ﬂ) = n?Arctan (—ﬂ-)
n n
_ 9 [2m 1 87r4+ 1 _9 82 1+ 1
="\ T3 e T\ - 3 n%\n)
hence
872 1 1 82 1 1
exp (i0,) = cosb, +isinb, = cos 27m—i~——|—0 — ) )+ sin Trn—i-——&—o -
3 n n 3 n n

— 1 for n — 4o0.
Then by some rules of calculation for sequences,
20| exp (i) — exp (27%) for n — +oo,

thus
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Complex Funktions Examples c-2 Line integrals

5 Line integrals

Example 5.1 Let C be a simple, closed curve surrounding a domain € in the (x,y)-plane of the area
S. Prove that

(a) j(éxdz:iS, ) fcydzz—s, (©) j(li?dzzQiS.

Figure 27: Example of a curve C, which surrounds a (bounded) domain €.

First it follows by a consideration of the figure that

%xdy:—%ydmzs.
c c

It follows from

%xdwz%ydyz&
c c

that

(a)

%xdz:j{xdw—i—ij{mdy:i&
c c c
y{ydz:fydx—i—i%ydy:—s,
c c c

(b)

(c)

%Edz %(m—iy)(d:c—i—idy):?{xdm—i}gydm—i—i%xdy—&-%ydy
c c c c c c

= 04+iS+i54+0=25.
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Example 5.2 Let C denote the circle |z| = 1. Find

@ pZ w T @S @G

Figure 28: The circle C' with direction of circulation.

We shall everywhere use the parametric description

z = e, t € 10,27,
Student Student Money A Happy
Discounts Events Saving Advice Days!

£

Wealthystudent.co.u K
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of the curve C. Then
dz =iedt,

and we get:

(a)
d 271' - Zt 27T
FC T -
c et 0
271' - 27 9
. it it2m
et dt = |e =1-1=0,
foo- [ €5
d 21 - it 27 . . -
f—jz/ %dt:/ ie "dt = [—e‘”]i =-1-(-1)=0,
cZ 0o €~ 0
d 2w - gt 27 ) ) x
7{—’;:/ %dt:/ ietdt =[] =1-1=
c 122 o |e*| 0

Example 5.3 Find the value of the complex line integral fc |z| dz, when the curve C is

(b)
(c)

(d)

(a) the line segment from —i to 1,
(b) the left half of the unit circle run through from —i to 1,

(c) the right half of the unit circle run through from —i to i.

(a) The parametric description is here
zZ=1y, ye[le]a

so by insertion,

1 1 y2 1
/|z|dz:/ |y|~idy:2i/ ydy = 2i {—} = .
c -1 0 2],

(b) The left half of the unit circle from —i to ¢ has e.g. the parametric description
_9 T 3w
0 27
z=e 7, S [ 5 9 } s

hence

/C|z|dz:/;2 e~ (i)™ df = [~

=i~ (—i) = 2i.

w3 w‘;o
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0.5 15

Figure 29: The three curves C from —i to ¢ with their directions.

(c) The right half of the unit circle from —i to ¢ has e.g. the parametric description

i9 T
= 9 96 |:__7 _i| }
z e 579

hence by insertion,
3 o
/|z|dz:/ iewdﬁz[ew]z’ﬂ:if(—i):%.
o} _ -2

Remark 5.1 Clearly, the value of the line integral depends in this case of the path of integration. ¢

1
Example 5.4 Compute fc —dz, where C' denotes the curve with the parametric description
z

z(t) = 2 cost + 2i sint, te {0, g} .

By insertion of the parametric description

2(t) =2 cost +i2 sint = 2¢”, te {O,g}a

we get
1 T 1 , 3 ;
/—dz=/ —.-Qie”dt:i/ dt =T
cZ 0 2e% 0 2

Example 5.5 Compute the line integral fc (x2 +iy3) dz, where C' is the straight line segment from
z=1t0 z=1.

A parametric description of C' is given by

z(t) =1—t, y(t) =t, t €10,1].
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05 0 05 1 15 2 25

05

Figure 30: the path of integration C.

05

Figure 31: The path of integration C' with its direction.

Hence, by insertion

/ (z® +iy?) dz
c

1
[+ ="y 420 + i/ ()}

A

/01{ ) +itd} - (1 +i)dt

/1{ 1—t) —t?’}dt—H/ {A—1t)? -t} at
) “‘LH[“;” &l

1__ NN SN
4 4 3) 12 127

0

/\lﬁ
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ALTERNATIVELY one may apply the following variant:
1
/ (a® +iy®) dz = / {A=t)?+it®} - (=1 +i)dt
c 0
1
(-1 +i)/ {t-1)2+it’} dt
0

(—141) [“;1)3 +i§};:(—1+z‘) (%%—%z)

1 1 1 1 1

. 7 .
‘5‘1“(‘1%) BESTRETE
Remark 5.2 This is not a so-called exact differential form, so the value of the line integral depends
of the path of integration. ¢
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Example 5.6 Compute the line integral fc {(x2 — yz) dy — 2xy dy}, where C' denotes the straight
line segment from 1+ i to 3 + 2i.

-0.5

Figure 32: The line segment C' from 1+ 4 to 3 + 2i.

Here we have at least three different variants:
1) The “standard” method. The curve C has the parametric description
z(t) =1+1i+ (2+19)t, t € 0,1],
hence by separation into real and imaginary parts,
z(t)=1+2t and y(t)=1+t  fortel0,1].

Hence by insertion,

/ {(2® —y?) dz — 22y dy} = /1 {(1+26)% = (1+)?) - 2dt — 2(1 + 2t)(1 + t)dt}
C 0

1 1
:/ {2(2+3t)t—2(1+3t+2t2)}dt=2/ {2t +3t> —1-3t—2t*} dt
0 0

! 11 2 7
= 2 t2—t—Ddt=2(-—-—-1]=2-3=-.
[ ne=2(gog1)=3 =3

2) Ezxact differential form. The differential form under the integral is a (real) exact differential form,
which can be seen by

0

0
B (¢* =y*) = =2y = - (=2ay),
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and the form is defined in the simply connected domain R?. Hence, the value can be found by
some clever manipulation of the integrand,

/C{(IQ—yQ) do — 2y dy}
:/C{x2dx—(y2dw+xd(y2))}:/cd{%xS_xyg}: Ex?’—xy2](3’2)

(@y)=(1,1)
1 ) 1 1 17
=(2-33-3.22) - (--1)=9-12—--41=-2—2=——,
(33 ’ ) (3 ) ) 37 373

3) Complex Functions. An even easier variant is to notice the connection with the Theory of Complex
Functions, because

3+21

/c{(a:2 ) de - 2eydy) = Re/

1 1
2?dz = Re {— (34+2i)* — = (1 + i)3}
144 3 3

1 1 7
= 5 Re{27 +54i —36 —8i — (1+3i —3 i)} = 5 (2736 — 1 4+3) = —.

Example 5.7 Sketch the curve C of the parametric description z = 1+ it, t € [0,1], and indicate its
direction.
Then compute

(a) /042%12, (b) /Czdz, (c) /Cédz.

-05

Figure 33: The curve C with its direction.

(a) We get by the Theory of Complex Functions that

/ 4284z = [ = (14t -1t = —4—1= -5,
C
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ALTERNATIVELY it follows by a computation of the corresponding line integral,

/ 423dz
c

1 1 . . 1
3 /
/4(1+it)3idt:4i/ (14 3it —3t> —it®) dt = 4i t+§t2—t3—it4
0 0

3 1
41'{1-1—52'—1—12}:i(6i—i):—5.

(b) Here we cannot apply the Theory of Complex Functions. Instead we insert the parametric
description of C to get

! 1 21 1
/m:/ (1—u)idt=/ (i) dt = [it—&——} 1
C 0 0 2 0 2

(c) Using the Theory of Complex Functions we get

1 ; 1
/ —dz = [Log 2];7" = Log(l +i) — Log 1= Log(1+7;):§1n2+7:£
Cc <

ALTERNATIVELY we get by the parametric description that

1 Loy L1 —at L | Loy
/—dz / L dt:/ udt:i/ —dt+/ g
CZ 0 1+Zt 0 1+t2 0 1+t2 0 1+t2

= i[Arctan t](l] —|—% [ln (1 +t2)](1) = % 1112—5—2'%.
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Example 5.8 Sketch the curve C of the parametric description z = e~ t € [0,1], and indicate its
orientation. Then compute

(a) /C4zgdz, (b) /Cidz, (c) /C%dz

Figure 34: The curve C' with its orientation.

(a) By using the Theory of Complex Functions we get

/ 422 dz = [2Y]] = (-1 -1t =0
C

ALTERNATIVELY we apply the parametric description
1 . . 1 . . 1
/C4z3dz = /0 4e 3 (—im)e ™t dt = /0 (—dim)e~ 1t gt = [6_4”“}0 =1-1=

(b) By insertion of the parametric description we get

1
/ zZdz = / et (—im)e ™ dt = —im.
c 0

(c) By insertion of the parametric description we get
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Example 5.9 Sketch the curve C of the parametric description z = 3> t € [0, 1], and indicate its

orientation. Then compute

(a) /C4zgdz, (b) /Cidz, (c) /Cédz

Figure 35: The curve C' and its orientation.

(a) By using the Theory of Complex Functions we get

/ 423dz = [24]2 =0.
c

ALTERNATIVELY it follows by using the parametric description,

1 1
/4z3dz:/ 4~33.eﬁi”f~3-2m~e2mdt=34/ 8ir - 5T df = [81- ¢S] = 0.
C 0 0

(b) We get by insertion of the parametric description that
1 . .
/Edz :/ 3e 3. 20 - 2 dt = 18mi.
c 0
(c) We get by insertion of the parametric description that

1 | pint
—dZ:/ T'3‘2'ZZ7T€“T dt:2Z7T
cZ 0 Jesm
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Example 5.10 Sketch the curve C of the parametric description z = e*™ t € [0,1], and indicate its

orientation. Then compute

(a) /C4zgdz, (b) /Cidz, (c) /Cédz

0.5 15

Figure 36: The curve C' with its (double) orientation.

The curve C' is the unit circle circulated twice in the positive direction.

(a) By using the Theory of Complex Functions we get

/ 423dz = [24]1 =0.
c

ALTERNATIVELY it follows by insertion of the parametric description,
/ 423dz = / 4e?m g ettt = / 16mi e dt = [e'7"] = 0.
c 0 0

(b) By insertion of the parametric description we get

1
/ Zdz = / e Ami e At = 4.
C 0

(c) We get by insertion of the parametric description

1

1 1 .
—dz = — 4 et = 4.
C z 0 e ™

1
ALTERNATIVELY we notice that — = Z for |z| = 1, because then z - Z = 1. The result must be the
z

same as in (c).
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0.5

-05 N 05 1 15 2 255

05

Figure 37: The curve C and its orientation.

Example 5.11 Sketch the curve C' of parametric description z = 1+ it +t2, t € [0,1], and indicate
its orientation. Then compute

1
(a) / 423 dz, (b) / Zdz, (¢) —dz.
c c c <
The curve is part of a parabolic arc of vertex 1.

(a) We get by the Theory of Complex Functions that
/ 420z = [ =24 —1=(3+40)° 1= —T+24i — 1 = —8 +24i.
c

ALTERNATIVELY (and not so smart) we insert the parametric description of the curve. Then we
have the following computation,

1
/4z3dz = /4(1+t2+z't)3(z'+2t)dt
C 01 3 2
- / 1 (1+2) 30t (1442)" =362 (146) =it } (21 + D)l
0
1

= 4/ { (#0433t +3t* +1 -3t —3¢%) +i (3t°+ 61>+ 3t —t°) } (2t +i)dt

0

1
= 4/ {(2t"+2t—3t° —5¢3—3t) +i (t°+1+6t°+10t* +-6¢%) } dt
0

1 1 5 1 !
O T . i (17265 + 213 +¢
{<4 5 1 5 + 1 (t7+26° 4287 +1)
= 1-2-5-2+4i(1+24+2+1)=—8+24i.

0

(b) When we insert the parametric description we get
1 1
/zdz = / (14> —it) (2t+i)dt:/ {@P+2t+t)+i(P+1-2%)} dt
c 0 0

1, 3., ([ 1.4 ! 2
= |zt 2 —— P 4t)| =2+ %4
[2 2 H( ! +)} v
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1
(c) Since Log z is an integral of — in the right half plane, we get
z
1 2+i - 1 : 1
—dz = [Log z]{"" = Log(2+i) = - Inb +iArctan —.
ALTERNATIVELY (and less elegant) we insert the parametric description of the curve. Then

1 Lot 4 o241t Lo 43t +i(—t2+1
cZ o *+ 1+t o (2+1)"+t 0 t* 43t + 1

1 [ 43 +6t ot —t2 41
= = ———dt +1 dt
2 Jo 132+ 1 0 ( 3+\/5>(2 3—\/5>
12 +

t2
+ 2
14+/5 1-+5
1 1. 2 2
= = [In(*+3t2+1 —z/ + dt
2[ ( o 0 3+5 3—-v5
2 + t2
2 2
14++5 2 2 1-+5
= —Inb— . Arc + Arctan
{ 2 315 345 2 —\/5}
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We stop the computations at this point because they should only serve as an illustration of the
fact that in the Theory of Complex Functions it is worth always to look for alternatives which
might be easier to apply. It is of course possible to reduce the computations above to the result

1 1
3 In5 + i Arctan 3

by starting the reduction by

2 4 ( 2 )2_ 2
3+v5 | 6+2v5 V\VE5+1) V541

and analogously.

Example 5.12 Compute fc(z + 1)dz, where C is that part of the parabola of the equation y = x2,

which starts at z =0 and ends at z = 1 + 1.

Figure 38: The curve C' and its orientation.

If we use the parametric description
x=t, y =t t €10,1],

it follows by insertion and computation that

1 1
/(z+1)dz = /(t+it2+1)(1+2it)dt:/ {(T4+t—26%) +i (> +2t+2°)} dt
C 0 0
= t+ﬁ—ﬁ+'(t3+t2) 1—1+1—1+'(1+1)—1+2'
- 2 2! T2 2! T

2

z
ALTERNATIVELY and a lot smarter we immediately see that > + z is an integral. (Check this, i.e.
differentiate!) Then

2 g
/(z+1)dz[—+z} =—+1+i=1+2i.
c 2 0 2
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Example 5.13 Find the value of the complex line integral

/ z exp (22) dz,
C
when C' is

(a) the straight line segment from z =i to z = —i + 2,

(b) the arc from z =0 to z = 1 +i of the parabola of the equation y = 2.

-05

-1

Figure 39: The curve of (a) and its orientation.

02 02 04 06 08 1 12

—0.2

Figure 40: The curve of (b) and its orientation.

1
A simple check shows that 5 eXp (2?) is an integral of z exp (2?). Hence

(a)
—it2
exp (zz)} =3 {exp ((—i + 2)2) —exp(-1)}

%

N | =

/Czexp(z2) d: = [
1
2

1
{63(3084— - —ie3sin4}.
e
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(b) Analogously,

F exp (22)} T !

/ Z exp (22) dz =
c

Example 5.14 Let C be the curve of the parametric description

x(t) = cost, y(t) = sint, t € [0,7].

Prove that

/e—dz
c <

<Te.

; 1
{e* -1} = 5{(:052— 1+ sin2}.

-0.2

Figure 41: The curve C and its orientation.

The curve C'is just a half circle in the upper half plan of radius 1 and centrum 0. It is well-known

that its length is L = 7.

If z € C, then |z| = /22 + y? = 1. In particular, z < 1 on C, so we obtain the estimate

: :%.{ex.eiy’:%-exleiy‘:ewgezM-

z

Then we have the estimate

/cf(z)dz /Cédz

Remark 5.3 It can be proved that the exact value can be written

— < M-

L =me.

z +oo 2

e
L PP
oz ;(2n+1)-(2n+1)!

+ .

However, this cannot be proved at the mathematical level of this book. ¢
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Example 5.15 [t is possible the compute the integrals

+oo +oo s
I :/ cossi dx 0g I :/ sma:l dx
1 1
T+ — T+ —
T T

numerically, though this is not an easy task, because the integrands decrease very slowly with increasing
x. Apply the Theory of Complex Function, such that Iy and Iy are rewritten as integrals with fast
decreasing integrands, such that it is easy to perform a numerical computation.

0.5

-05 N 05 1 15 2 255

-05

Figure 42: The path of integration C' from 1 to A +iB.

Consider the complex line integral

elZ

I(A,B) = / e,
CZ+—
z

where C' denotes the straight line segment from z =1 to z = A+ iB, where A>1 and B > 0.
In particular, we define

I(oo,O):Alim I(A,0) and I(l,00) = lim I(1,B).

——+o00 B—+o00

(a) Prove that

I(00,0) = I1 + i L.
(b) Explain why

I(00,0) = I(1,00).

HINT: Apply that Jordan’s lemma for a half circle Cg in the upper half plane also holds for a part
of a half plane in the upper half plane.

(¢) Use a real variable of integration t, where z = ((t) = 1 +it, in order to prove that one can write
I(1,00) in the form

. Foo
I(1,00) = el/o RV (t) + i Fa(t)) dt,

and find the real functions Fy(t) and Fa(t).
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(a) If B =0, then

iz A iz A A .
A0 = | S—de=| S—do= ] L arrif 22 4
C 1 1 1 0 1 1 1

zZ+ - T+ — T+ — T+ —
z T T T

It follows that the limit A — +o0 gives (conditionally) convergent integrals and that

o0 +oo -

I(oo70)=/ == dx—H'/ ST de =1 +il.
0 i 0

xr

1
T+ =
x
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0.5

-05 0 05 1 15 2 255

05

Figure 43: The curve C; is composed of the quarter circle of radius A and centrum (1,0) and the
corresponding line segments to centrum.

(b) Let Cy be the closed curve on the figure. Since the integrand is analytic inside and on C7, we
have

iz
% ¢ 1dz:0.
C

124 —
z

Along the quarter circle we use the parametric description

Di(=1+4-¢"  telo, 7],

hence we get the estimate

iz % 1 A it A2 %
/ e L < / {exp(l( +1 e))| -AdtSQ—/ exp(—A sint) dt
Pzt - 0 A- = AT =1
A
< A* /ge 2At dt < A 7 1{1 ’A} 0 for A — +
[— X —_— . - —_. — — — T —
= a1 ), PR Sz av e o

where we have used that
2
— <sint <t fortE[O,E}7
s 2

which follows easily by considering the graph of sint in the given interval. This proves that
2
_sint< -2t forte [0, E] ,
T 2
which was used in the estimates above.

Since

oz]{ ¢ ldz:I(A+1,0)+/ e —I(1,4),
C

124 — FZJF,
z z
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it follows by a rearrangement that

HA+LM:HLM—/‘eldm
FZ+—
z

and hence by taking the limit,
I(00,0) = I(1,00).
(¢) Finally, we apply the parametric description
z=C((t)=1+1it, t € [0, 400l

in our computation of I(1,00), thus

° exp(i(1+it)) . * (1+it)exp(—t+1i) .
I(1,00) = / — 1 idi= ATl idt
0 J4it+—— 0
1+t

(L it) et

= j-¢ ———dt
! e/o 2212t

where

1+t 2 —t2 — 24t
22420t 2— 12— 2it
2 — 12+ 2t +i {2t — 3 — 2t}
(2 — 12)% + 42
242 —it3
4+t

Fi(t)+iFy(t) = i-é

= (—sinl+i-cosl)

= (—sinl+icosl)-
1

e {—(t*+2) sin1+¢* cos 1+i ((t°42) cos 1+¢*sin 1) } .

By separation into real and imaginary part we therefore obtain

- t3cosl—(t2+2) sin 1 t3sin1—|—(t2+1)cosl

1(1) P 2 (t) A :
hence
oo Too 3 cosl — (t2 4 2)sinl
Il :/ Cosq.i dx :/ t4(+4 ) eft dt,
1 i 0
T
and
too g 0 $3g6inl 4+ (t2 4+ 2) cos 1
12 :/ Sln:zi dx :/ 4( ) €7t dt.
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Now we shall find and use

1+t 2 —t2 — 2t i
Fi(t) +iFy(t) = . =
1(8) + i Fa(t) 'O oit 22 —2it 44
o r2—i P +2,t2+2
n th+4 A4 A4’
so we finally get
3 242
)= —— d  FRit)=-—=.
W=m ™ 2() =

{2—*+2° + (2t — * — 2t) i}
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6 Differentiable and analytic functions; Cauchy-Riemann’s equa-
tions

Example 6.1 Given the function
fla+iy) = (2 +2y) +i (2® +97) .

Find the points zo in which ' (zo) exists.

Clearly, f € C* (R?). Then by partial differentiation,

Ju v ou  Ov

Lo9p, =2, thus — = - forx=

o x, oy Y, us - 9 or x =y,
and

@:2, @:23:, thus @:—@ for z = —1.

dy ox dy ox
It follows that Cauchy-Riemann’s equations are only fulfilled for x = y = —1, hence the complex
derivative f’(zg) does only exist at the point zg = —1 — i, where

fl(=1—i)=—-2—2i.

Example 6.2 Prove that the function
20° +3y° +4zy+5r+2y+3 + i (62°+2y° + 3wy + 22+ Ty+1)
is mot analytic in any domain of the complex plane.

The function is clearly of class C'*>° (R2). We shall therefore only check Cauchy-Riemann’s equations.
We get

ou @

— =dx+4y+5 =4dy+3z+7
O T+ 4y + 9, ay y+or+1,
0 0
L~ by + 4z + 2, 2 190+ 3y + 2.
dy Ox
The it follows from Cauchy-Riemann’s equations that
0 0
—u:—v, thus dr+4y+5=3z+4y+7,
or Oy
hence x = 2, and
Ou _ 90 s At Gy+2— —120—3y—2.
oy or

We conclude from the latter equation that

16z +9y +4=0.
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If we here put z = 2, we get y = —4, hence Cauchy-Riemann’s equations are only fulfilled at the point
z=2— 4.

Now, a point does not contain an open domain, so we conclude that the function is not analytic.

Example 6.3 Prove that none of the following functions is analytic at any point:

(a) f(z) = xy+ iy, (b) f(z) =¢€Y(cosz +1 sinx).

All the given functions are of class C'*° (RQ), so we shall only prove that Cauchy-Riemann’s equations
are not fulfilled in any open domain.

(a) Tt follows from

u(z,y) =xy  and  v(z,y) =y,

that
%— %—x o) @—0 @—1
oz 7 oy & ox 7 oy

and we conclude that Cauchy-Riemann’s equations are only satisfied at the point (0,1), and a
point cannot contain any domain.

(b) Since
u(z,y) =eYcosx and v(z,y) =eYsinx,

it follows by differentiation that

Ju . Ju

— = —eYsinz, — =eYcosu,
ox y

ov ov .

— =eYcosu, — =eYsinz.
Ox Qy

We see that Cauchy-Riemann’s equations are only fulfilled when both sinz = 0 and cosx = 0 at
the same time, and this is not possible, because

cos’x +sinz = 1.

Example 6.4 Given ¢(x,y) = x3y. Is it possible to find a function ¥(x,y), such that

() = oz, y) +iv(x,y)

becomes analytic?

According to Cauchy-Riemann’s equations ¢ must satisfy

v _ By, 00 g _

o _ 9y _ o _ 2
Ox oy T oy Ox 32°Y.
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It follows from the former equation that

Ue,y) = — 32+ Ci(y),

and then from the latter equation,

U(ry) = 5 2%+ Cola).

It follows that these two expressions can never be identical, no matter how C(y) and C(x) are chosen.
In fact, the variables occur in different terms in the former expression of ¢, while such a separation
of the variables is impossible in the second expression.

Hence one cannot find such a function .
ALTERNATIVELY (and better) we see that ¢(z,y) = 3y is not harmonic:
Np =6xy+0=06zy #0 for xy # 0,
and since Ap = 0 is a necessary condition for ¢ being the real part of some analytic function, there

does not exist such a .

Example 6.5 Prove that Cauchy-Riemann’s equations are fulfilled for the function f(z) = +/|xy|,
z =x + 1y, at the point z =0, and that the derivative nevertheless does not ezist.

Since f(z) is real, we have

u(z,y) = /|zy] and v(x,y) =0.
Since u(z,0) = 0, we have

ou v

and since u(0,y) = 0, we also have

ou ov
8_1/ (070) - _8_:10 (an) - 07

and we have proved that Cauchy-Riemann’s equations hold at the point z ~ (0,0).

Let us approach (0,0) along the curve of the parametric description

z(t) =1, y(t) =t, teR,.

p(t) = fla(t)y(t) =V =t teRy,

s0 ¢'(t) =1 # 0, and the derivative does not exist.
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Example 6.6 Prove that the function
exp (—z7%) for z € C\ {0},

0 for z =0,

f(z) =
satisfies Cauchy-Riemann’s equations in all of C, and yet it is not differentiable at 0.
Since f(z) for z # 0 is the composition of analytic functions, it follows that f analytic for z # 0. In

particular, f(z) fulfils Cauchy-Riemann’s equations for z # 0.

On the other hand, the function is not continuous at z = 0, thus it cannot be analytic at z = 0 either.
In fact, if we choose the curve of the parametric description

z(t)zt(lg), >0,

o
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then

f(2(t)) = exp *; eXp(%)HJroo fort —0-+.

(%)

Now, f(z) = u(z,y) +iv(z,y), so

flx+i-0) =u(x,0)+iv(x,0) = exp <%) +1i-0,

thus
1
exp <—4) for x # 0,
u(z,0) = * and v(z,0) =0.
0 for x =0,
Analogously,

f(O+iy) =u(0,y) +i-v(0,y) = exp (%) +1i-0,

thus
1
exp | —— for y # 0,
u(0,y) = y and v(0,y) =0.
0 for y =0,
Clearly,
0
@ v =0 for z = 0.
or Oy
Furthermore,
o)
_ P\ -
N 0,0) = i U200 N e
r z—0 x—0 z—0 x xto0 ( 1 > [t| =400 €XP (t4)
exp F

and analogously,

ou

— (0,0) = 0.

6:[/( ) )
It follows by inspection that Cauchy-Riemann’s equations are also fulfilled at (0,0), thus they hold
all over C.

The lesson is that Cauchy-Riemann’s equations alone without any assumption of continuity are not
sufficient for analyticity.
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Example 6.7 Prove by means of Cauchy-Riemanns equations that the function
f(z)=(—€e"siny 4+ 3) +i(e”cosy +5)

is analytic everywhere in C.

The functions
u(z,y) = —€e®siny + 3 and v(z,y) = e’ cosy+5

are both of class C* (Rz), so it suffices to prove that Cauchy-Riemann’s equations are fulfilled every-
where in C. We get by differentiation

Ou e’ sin Ov e” sin dvs Ou _ dv
_— = — _— = — VS. _— = —
Ox 4 Ay 4 ox Oy’
u e* cos v ercosx dvs Ou v
— = — = vS. —_— =
Oy Y ox ’ Oy oz

Since Cauchy-Riemann’s equations hold everywhere in C, we conclude that f(z) is analytic in all of

C.

Remark 6.1 Note that it is easy to find f(z) by the following manipulations,

f(z) = {—e®siny+3}+i{e®cosy+5}=i%c"siny +ie”cosy+ (3 + 5i)
= i{e*cosy+ie®siny}+ (34 5i) =ie*+ (3+ 59). O

Example 6.8 Check the different concepts of logarithm in the Theory of Complex Functions.

In the Theory of Complex Functions one use in particular the following three different forms of the
logarithm:

1) The real natural logarithm In: R} — R.

2) The principal branch of the logarithm Log : C\ (R_ U {0}), where @ = C\ (R_ U {0}) is an open
sliced domain of the complex plane along the negative real axis, such that always Arg z €] — m, 7]
for z € Q. In this case,

Log z :=In |z| + i Arg z = Inr + 40, where z =re? € Q, and 0 €] — 7, 7[.

By using Cauchy-Riemann’s equations in polar coordinates it is easy to prove that Log z is analytic
in © with the derivative

f/(z)eiG{%+i%%ei0} 1 :17

ref 2z

and it follows that Log z defined on (2 is an extension of Inx defined on R .
We also note that
Inr i _ 6

expo Log (z) = exp(lnr +1i0) =e""e re’ =z,

hence in € the functions exp and Log are inverse to each other.
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3) Finally, we also have the multiple-valued function log z, defined on C\ {0} by
Log z + 2ipm, pEZ, for z € Q,
log z =
In|z| +i{2p + 1}m, pEZL, for z € R_.
This function is not uniquely determined, so we shall not call it an analytic function, even though it

has many properties in common with the analytic functions. Notice that none of these logarithms
is defined for z = 0.

Example 6.9 Check the following functions, if they fulfil the Cauchy-Riemann equations in their
domains:

(a)

f(2) =2 —y* — 2ixy.
(b)

23— 3y’r + 22+ (3m2y — 3+ 2y) .
(c)

1 Y
f =1 22 + 4 Arct =.
(Z) 2 1’1(.17 y) 7 Arctan

(d)

By
—
IS
—
I
I

1
5 In (2% + y?) + i Arccot z
Y

(a) The domain is C, and by separating the real and the imaginary part we get

u(z,y) = 2% —y? and v = —2xy,

hence
ou v ou
%—21‘ and 3_y_2x7é% for = # 0.

We conclude that Cauchy-Riemann’s equations are not satisfied in any open domain.

Remark 6.2 If one also consider the second one of Cauchy-Riemann’s equation, it can be proved
that they are only fulfilled at (0,0). ¢

Remark 6.3 Note that f(z) = z°. O
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(b) The domain is C, and we get by separation of the real and the imaginary part that

u(z,y) = 2® = 3’z + 2 and v(x,y) = 3z%y — y> + 2y,

thus
ou 9 9 ov ou ov
= — 2 = — _— = — = ——.
I 3x° —3y° + By og 3y 6yx I

We have proved that Cauchy-Riemann’s equations are satisfied in all of C.

Remark 6.4 In this case it follows that

f(z) = 2*=3y%z+2z+i(32%y — y° + 2y)
= 2% 4 3y + 3x(iy)? + (iy)® + 2(z + iy)
25+ 2z O

o
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Figure 44: The domain in (c) is the union of the two open angular sets which contain the positive and
the negative real half axis, resp..

(c) Here,

1
u(z,y) = 5 In (m2 — y2) and v(z,y) = Arctan %

are defined and of class C'* in the open set given by |z| > |y|. We have assumed that = # 0, so

ou

1 2z x
or 2 x2—y2  x2—y2

and

ov

1
T T ou B
= = — 0.
dy (y)2 2rp 7 o MV
+ =
X

It follows that Cauchy-Riemman’s equations are not satisfied in any open set, and the function
cannot be analytic anywhere.

(d) Here,
1 9 9 x
U($,y)=§ In (z* + y*) and v(z,y) = Arccot —
Y
are both defined and C*°, when y # 0. Assuming this we get
ou _ _w ov_ 1 BN _ & _Ou
oxr  x2+y2’ oy 2\ 2 y2) 224y 02’
()
Y
ou_ _y Qv _ 1 1___y _ _ou
oy a2 +y?’ or \? y 22 +y* Oy’
()
Yy

proving that Cauchy-Riemann’s equations are fulfilled for y # 0.
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Remark 6.5 This is an important example, because it can be proved that
Log 2 for y > 0,

f(z) = 0
Log z +im for y < 0,

Example 6.10 Check if the following functions are analytic in any domain of the plane,
(a)
f(2) = 2% + 9% + 2ixy.

(b)

£(2) = 22 — 3y +i(3z + 2y).
(c)

£G) = St
(@)

f(z) = |o* = ?| + 2i |yl

(a) The function
f(z) = a® +y* + 2iay
is not analytic anywhere. It is seen by a separation of the real and the imaginary part that
u(z,y) = 2% 4+ 32 and v(z,y) = 2xy
are both of class C'*° (RQ). Then by a differentiation,

ou ov d @_2_811

o= 2 =2y = —.
Ox * dy an dy 4 Ox

We see that one of the Cauchy-Riemann equations is satisfied, but the other

ou ov

3~ o

is only fulfilled for y = 0, i.e. on the real axis, and the real axis does not contain any open domain
of the plane.

(b) Tt is seen by INSPECTION that
f(z) =22 — 3y +1(3x + 2y) = 2(z + iy) + 3i(x + 1y) = (24 3i)z,

which of course is analytic everywhere in C.
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ALTERNATIVELY,
u(x,y) =2z — 3y and v(z,y) =3z + 2y
are both of class C'*° (]RQ), and

ou v ou v

_— = 2 = — Og _— = —3 — -,
Ox dy dy ox
proving that Cauchy-Riemann’s equations are fulfilled, and f(z) is analytic everywhere in C.

(c) An INSPECTION shows that if z # 0 (i.e. when f(z) is defined), then

_xtiy oz 1
fz) = 2+y2 2z %
1
INDIRECT PROOF. Assume that f(z) = = were analytic for z # 0. Then according to the rules of
Z
. 1 _ .. .
computation, m = Z must be analytic in the same domain.
z
1

However, since = Z is not analytic anywhere, f(z) cannot be analytic.
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ALTERNATIVELY,
L Y
= — d [
u(@,y) = — TE ™ v(z,y) = vy
are both of class C*° for (z,y) # (0,0). Then
8u_x2+y2—23:2_ y? — 2 v x2+y2—2y2_ 2 —y?
T @ @ W @) @)
ou 2y ov 2y
o @) 0~ @ty

This proves that we obtain the “Cauchy-Riemann equations with the wrong signs”, i.e.

ou ov
_ og

dx 9y

v
ox’

£y

If therefore Cauchy-Riemann’s equations are satisfied, then

@*@*O 0
or Oy &

Ou _ _0v
oy  Ox

B (%:0.

Since z € C\ {0}, this is never the case.

-z"2

0.5

0.5 1

-z"2

Figure 45: The four angular spaces, in which f(z) is an analytic function, are indicated by the reduced

expressions.

(d) Since

2% = 2% — y? + 2ixy,

the analyticity here depends on the signs of 22 — y? and 2xy.
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If 22 — 32 > 0 and 22y > 0 (two angular spaces), then clearly
f(z)= ’xz - y2‘ + 2i|zy| = 2% — y? + 2ixy = 2>
is analytic, cf. the figure.
If 22 — y? < 0 and 2xy (again two angular spaces), then
f(z) = |2® = y?| + 2i|zy| = — {2® — y* + 2izy} = —2°
is analytic, and f(z) is (at least) analytic in the four marked angular spaces on the figure.
If 22 — y? < 0 and 22y > 0 (again two angular spaces), then
f(z)= |x2 — y2| + 2ilzy| = — {2* — y* — 2iazy} = —7°.
If 22 — 3% > 0 and 2ry < 0 (the two remaining angular spaces), then
f(z)= ’xz — yz‘ + 2ilzy| = 2% — y* — 2ixy = 72
The function f(z) is not analytic in any of these latter cases. We have e.g. for z? that

u(,y) =2 —y> and  w(z,y) = 2y,

hence
ou ov
o Lo o
Ox “ oy “
ou v
) )
9y Y, o y

It follows that Cauchy-Riemann’s equations are only satisfied at (0, 0).

Example 6.11 Prove that the following functions are analytic:

(a)
f(Z)=I2—y2—2xy+i(z2—y2+2zy), for z € C.
(b)
3 42 + i (22y 4+ 4 —
o= S G ) ey
(c)

f(z) =sinz - coshy + i cosx - sinhy, for z € C.

As usual it is worth while first to make an inspection. This will give us some variants in each part of
the example.
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(a) 1) INSPECTION. All terms contain the variables (x, y) of degree 2. Therefore, it is quite reasonable

first to consider

2% = (x +iy)*22? — y? + 2ixy.
When we try to rewrite the expression of f(z) by means of expressions which contain 22, we

see that

fz) = {2 =y} —2ay+i(2® —y° + {22y})
= {2® —y? +2izy} +i{2° — y* + 2iay}
= (1414)2%

Since f(z) = (1 +1)z? is a polynomial, we conclude that f(z) is analytic.

CAUCHY-RIEMANN’S EQUATIONS. First note that
u(z,y) = 2? — y* — 2y and v(z,y) = 2% —y* + 22y

are both of class C'* (RQ). We shall therefore only prove that Cauchy-Riemann’s equations
are fulfilled. We find

u(:c,y) :xZ 7y2 *2!17y, U(J),y) :12 fy2+2xy,
ou v

— =2 -2 — =-2 2

O T — 2y, ay Yy + 2z,

Ju v

— = 2y—2 — =2 2y.

9y y — 2z, By = 20ty

This implies that

ou_du

or Oy oy 0z’

hence Cauchy-Riemann’s are satisfied everywhere, and we conclude that f(z) is analytic.

In order to prove that f(z) = (1 + i)z2, one must either go through the argument of (1) once
more, or otherwise differentiate twice, in which case we get f”(z) = 2(1 4+ i). Then we get the
result by two successive integrations.

(b) 1) INsPECTION. The degree of the numerator is 3, and the denominator has only degree 2. It is

reasonable first to try a reduction. Here we get without any problems
3+ xy2 =z (1’2 + yz) and ny + y3 =y (m2 + y2) .

Then by insertion and reduction,

(1) f(z) =

o’ +ay® +a+i(2%y +y° —y) T y
x iy — —5—
$2+y2 x2+y2 Y $2+y2
Since 2% + y? = |2|? = 2 - 2, it follows from (1) that
. T — iy z 1

which of course is analytic for z # 0.
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2) CAUCHY-RIEMANN’S EQUATIONS. We shall here immediately use the reduction (1), which we
here assume. If z # 0, then

x Yy
= —_ d =y - —
u(z,y) =x + e an v(z,y) =y oL

which of course are both of class C* (R?\ {(0,0)}). Then

ou 1 222 y? — z?
T ErE e T

”C N (2% +9?)

0 1 29 2 22 0
2oy
Ay 2+ Yt (22 4 y?) (22 +y?) O

and

ou 2xy v _ 2xy _ Ou
Oy (@+y?)? O (@24yd)? Oy

Thus it follows that the Cauchy-Riemann equations are fulfilled, so f(z) is analytic everywhere
in its domain.

3) CAUCHY-RIEMANN’S EQUATIONS WITHOUT THE REDUCTION (1). This is the difficult variant,
in which one checks if the original expressions

x3—|—yx—|—a:
x? + y?

?y+y° -y

and v(z,y) = 21y

u(z,y) =

satisfy Cauchy-Riemann’s equations.
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By a mechanical computation we get

ou B2+ +1) (2P ay+a) 22
or (22 + 42)°
- 31}4 + $2y2 + (L'Q + 311323/2 + y4 + y2 _ 21.4 _ 2-’1:2:[/2 _ 25(}2
= 2
(22 +y?)
PPyt a4y L Y2 — 22
(22 + y2)? (22 +y2)? )’
v (@432 -1) (@ +y?) - @y +yt—y) -
Oy (a2 +y?)*
- .’L'4 + 3x2y2 _ {L'Q + 3323/2 + 3y4 _ y2 _ 2x2y2 _ 2y4 + 2y2
= 2
(22 +y?)
a2yt a4y . 2 — 22
= 3 =l+ =5
(@ 17) (o 17)
du _ 2xy (22 +9?) — 2y (2® + 2y + z)
dy (22 +42)°
2xy 2, 2 2 9 2xy
= R (% +y° — 2% —y°1) :_7(:102—#3/2)27
@ _ 2xy (z2 + y2) — 2z (ny + y3 — y)
Ox (22 + y2)?
2xy 2 2 2 2 2zy
= —S @ty -y +l)=+—"-3,
(22 + y2)? ( ) (22 +y2)?

and it follows that Cauchy-Riemann’s equations

ou_ov o ou_ o
or Oy & oy  Ox

are fulfilled, hence f(z) is analytic for z # 0.

(c) It will later be shown that f(z) is the definition of the complex function sin z, z € C. Since this
function has not yet been defined, we must instead use the Cauchy-Riemann equations.
Clearly, the functions

u(x,y) =sinz - coshy and v(z,y) = cosx - sinhy
are both of class C*° (R?). Furthermore,

0 0 0 0
—u:cosx-coshy:—v and —u:sinx~sinhy:—8—v,
x

Ox dy Jy
hence CAUCHY-RIEMANN’S EQUATIONS are satisfied, thus
f(z) =sinx - coshy + i cosz - sinhy {=sinz =sin(x +iy)}

is analytic in all of C.
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Remark 6.6 We shall here show by applying Euler’s formulae that this definition of sin z is quite
reasonable. In fact,

f(z) = sinz-coshy+ i cosz-sinhy

_ i T, —iT 1 Yy -y 1 T —ix 1 Yy _ -y

= 22,(6 e ) 2(6 +e )—i—z 2(6 +e ) 2(6 e )

= % . % {e”ey 4 eTeTY — eTWeY _ el 4 oITeTY _ o Ty 4 e_”e_y}
1 1 . ) 1 . )

_ . e T —tr,y\ =y _ —ix+ty

= 33 {26 e 2e¢ e } 5 (e e )
1 (x4 —i(x+e 1 1z —1z

= %{e(er)—e (+y)}:%(e —e 7). O

Example 6.12 Find some real constants a, b, ¢, d, such that the following functions become analytic:

(a)

f(z) =2+ ay+i(bx + cy).
(b)

f(z) = 2%+ axy + by? +i(cx2 +dmy+y2) .
(c)

f(z) =cosx-coshy + a cosz - sinhyi (b sinx - sinhy + sinx - coshy) .

We first note that all the functions are of class C'*™° (Rz). Therefore, we shall only check if CAUCHY-
RIEMANN’S EQUATIONS are fulfilled.

(a) Since
u(z,y) =x +ay and v(x,y) =bx+cy,

it follows from Cauchy-Riemann’s equations that

ou v ou v
ox dy ¢ a y “ ox
Thus, the function is analytic, if and only if ¢ =1 and a = —b. In that case we also have

f(z)=z—by+ilbz+y)=(1+1b)(z+iy) = (1+ib)z.
(b) Since
u(z,y) = 22 + azy + by? and v(z,y) = cx® + dzy + 9>,

it follows from Cauchy-Riemann’s equations that

ou ov

R — = 2 = — = . 2
o T+ay 3y d-x+ 2y,
ou

0
= am+2by=——1}:—26x:—d-y.

3—y Ox
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These equations must hold for all z and y, hence we conclude that

d=2, a=2, a=—2c and 2b=—d,

1 1
a=2, b——§d——17 c-—ia——l, d=2,

and we conclude that the only possible function is

f(z) = 2 +2zy—y*+i {—x2 + 2zy + y2} = {wz —y? + 2izy} —i {x2 —y + 2ixy }
= (1-1)2>
(c) Since
u(x,y) = cosc-coshy+ a-cosz-sinhy,
v(x,y) = b-sinx-sinhy + sinx - coshy,
we get
0
- —sinx - coshy —a - sinzx - sinhy,
ox
ov . . .
— = b-sinx-coshy+ sinx - sinhy,
Ay
ou .
7 = coshx -sinhy 4+ a - cosx - coshy,
Y
ov .
9w b-cosx -sinhy 4+ cosx - coshy.
x

It follows that Cauchy-Riemann’s equations are satisfied, if

b=-1, —a=1, b=-1 and a= -1,
thus for a = b = —1. For these values we obtain the analytic function
f(z) = cosz-coshy—cosx-sinhy+i{—sinx-sinhy + sinz - coshy}

cosz - {coshy — sinhy} + i sinx - {coshy — sinhy}

{cosz +isina}le™ =Y = €'

Download free books at BookBooN.com

85



Please click the advert

Complex Funktions Examples c-2 Differentiable and analytic functions; Cauchy-Riemann’s equations

Example 6.13 Find all analytic functions in C of the form

f(z) = f(z +iy) = p(z) + i (y),

where ¢ and 1 are C'-functions in one real variable.

We first assume that ¢ and ¢ are real functions. A necessary and sufficient condition for f(z) being
analytic is that ¢ and ¢ are both of class C'!, and that CAUCHY-RIEMANN’S EQUATIONS are fulfilled,
ie.

@) = (@) = 5 ) = v,

because it is trivial that

Do _ O

dy ox (y) =0

The equation ¢'(z) = ¢'(y) is only satisfied, if the common value is a real constant a. In fact, since
¢’ (x) is independent of y, we conclude that ¢'(y) = ¢'(z) is a constant. Hence

d@)=a and () =a acR

o) =ax+ and Y(y) = ay+ ca,

i S
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and
fE)=¢@)+iY(y)=a-(x+1iy)+c1+ice=az+c,
where a € R and ¢ € C. Finally,
f(z)=az+c, a€RandceC,
is clearly analytic.

Then assume that ¢(z) and ¢ (y) in the real variables have complex values. Then by separation into
real and imaginary parts,

o) =p1(z) +ipa(r)  and  P(y) =P1(y) +iva(y),
hence

fz) = (@) +iy(y)
{e1(@) —2(y)} +i{p2(z) +¥1(y)},

and by a separation into real and imaginary parts,

u(z,y) = p1(z) — 2(y), v(z,y) = p2(x) + P1(y)-

It follows from CAUCHY-RIEMANN’S EQUATIONS that we get the conditions

ou _ov
ou o B 7@ _
_ay = Po(y) = or ©s (),

and we conclude as above that there exist real constants a; and as, such that
(@) =i(y) =ar  and  @h(z) = Yh(y) = as,
thus
¢1(x) = a1z + bu1, P1(y) = ary + bia,
Pa(r) = asw + ban, Ya(y) = azy + baa,
and by insertion,

f(z) = @) +iv(y) = (a1+iaz) z+(bi1+iba)+i(a1+iaz) y+i (bia+1ibao)

= az+te, a, ceC,

where

a:a1+ia2 og C:bllfb22+i(b21+b21).
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Example 6.14 Prove that a shorthand of Cauchy-Riemann’s equations is

of _10f
de i 0y’

If we put f = u + i v, then it follows from CAUCHY-RIEMANN’S EQUATIONS that

or  Ox l%_a_y_la_y_i N

g_au v v Ou 1<8u ,av)_lﬁ

“i\oy 'ay) " ioy

Example 6.15 Define

of 1[of  .of 1 [of 10f
%“5(%“@) H(%‘za—yﬂ'

Prove that CAUCHY-RIEMANN’S EQUATIONS are equivalent to

0
o .
0z
Remark 6.7 One often says due to this result that the analytic functions only depend on z and not
on z. This claim can only be taken as a mnemonic rule, because 7z is not the derivative of f with
Z

respect to Z. It is only a shorthand for

1/0f Of
5(%+Za—y> O

According to Example 6.14, the CAUCHY-RIEMANN EQUATIONS are equivalent to

of _19f
or i Oy’
thus

oo _1of _of of _,0f
Tor 10y oz ‘oy “o8z

and it follows that Cauchy-Riemann’s equations are equivalent to

of

%—0.
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Example 6.16 Assume that f is analytic in a domain  and that

ou Ov ]
£+a—y—0 in .

Prove that [’ is constant in €.

It follows from CAUCHY-RIEMANN’S EQUATIONS that
ou @ ou Ou ou

0 = — —_ — —_— = 2 _
3x+8y 6:E+8:E Ox’
hence
u(z,y) = u(y).
Analogously,
Ju Ov Ov Ov v
O=f+5=5++7=2_-—,
or Oy Oy Oy dy
hence
v(z,y) = v(z).
Then it follows from the second of Cauchy-Riemann’s equations that
ou , .~ oOv
=) =5 = /(@)

independently of both = and y, hence the common value must be a real constant —c. Hereby we
obtain the derivative

ou ov
/ = — ) — — ) Y
f(z)—ax—i—zax 0+i(+ec) =ic, ceR.

Example 6.17 Find the domains of analyticity for each of the following functions, and then find
their derivatives:

N O N A

z—27 z

Remark 6.8 Always start by inspecting the expression, if anything could be reduced. ¢
(a) The function

is analytic in C\ {0}. Then we get by the rules of computation that the derivative is

2 2 2 1 471 271
3 z—l _ 1+i _(? 1\" =2 +1:3(z ) (= )
z 22 z 22 z4

3 3
S+

f'(2)

= %{26—z4—22+1}:3z2—3—
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(b) Here it pays off first to decompose. Since 2z — 3z — 2 has the root z = 2, we easily get the
expansion

23 —32-2=(2-2)(z+1)%
Since

22 4= (2-2)(2+2),
we have the reduction

22 —4 z+2 1 1

1@ =555~ Gr1? 1P ziD

Hence the function f(z) is analytic in C\ {2, —1} with a removable singularity at z = 2. This
means that the domain of analyticity can be extended to C\ {—1}. In this extended domain the
derivative is given by

1 2 z+3

&= Grip - Grp

Diversity creating knowledge
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(c) We write the function in the following way,

L
f) =2 =1 2

z—2 z—2’

(note that we again start with a decomposition). This is clearly analytic in C\ {2}. Since we have
decomposed the function, it is very easy to compute the derivative,

N 2+
f(Z)— (2_2)2'

Remark 6.9 If we did not decompose before the differentiation, the computations would have
been somewhat larger, to put it mildly. ¢

(d) The function f(z) = % is analytic in C\ {0} and its derivative is
z

e ==

z

Example 6.18 Find the derivatives of the following analytic function in their domains:

(a) f(z)=2°-322-1, (b) f(z)zliz,
(0) f(z)=(1-2*(*+1)", (@) J(z) = (li) '

(a) The function is defined everywhere in C, and it follows from the elementary rules of computation
that

f'(z) = 52* —62.

(b) Here it is better to start with a decomposition,

1

which is defined in C\ {1}, so the derivative is
1
(=P

(¢) The function is defined in all of C, and by the elementary rules of computation we get the
derivative

F() = 2eC\ {1}

flz) = 4(z-1)% (" + 1)3 +62(z — 1) (2* + 1)2
= 2:-13 (2> +1)7 {22 +2+432(: — 1)}
— 20210 (22 +1)" {522 =32+ 2}.

Download free books at BookBooN.com

91



Complex Funktions Examples c-2 Differentiable and analytic functions; Cauchy-Riemann’s equations

z —

4
1
(d) The function f(z) = < ) is defined in C\ {—1}. Before the differentiation we note that

z4+1

27171 2
2+1 z4+1’

hence by differentiation of a composed function,

, z—1\° 2 Zz—1)3
f(z)—4(2+1>.(Z+1)2—8.§Z+1§5, zeC\{-1}.

Example 6.19 (a) Check where in the complex plane the functions u and v, given by
utiv=f(z) = (2)°,
satisfy Cauchy-Riemann’s equations.

(b) Is f(2) analytic at z =07

(a) Since
u+iv = (2)° = (z —iy)? = 2® — y? — iy,
we get by a separation into the real and the imaginary parts that
u(z,y) = 2% —y? and v(z,y) = —2zy.

These functions are both of class C*° (RQ). Then

ou ov
8_1 = 2.’[], 8_y = —21',
ou ov
— =2 — = 2.
oy Y, 5 Y

It follows that Cauchy-Riemann’s equations are fulfilled,

ou  Ov

a—x—a—y fOI'iU—O,
Ju v

%—_% fO]f'y—O.

This proves that Cauchy-Riemann’s equations are only satisfied for z = 0.

(b) Since the domain of analyticity is always an open domain contained in the set where Cauchy-
Riemann’s equations are fulfilled, and since the set {(0,0)} ~ {0} does not contain any open
domain, the function f(z) is not analytic at z = 0.
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Remark 6.10 The difficult thing here is that the function f(z) actually is complez differentiable
at 0. In fact, if z #£ 0 we get for the difference quotient that

\2
‘Lzﬁ—é@)’: " :%:|z—>0 for z — 0,
and it follows that

z—0 Z—O

However, this does not assure that f(z) is analytic at z =0. ¢

Example 6.20 We shall check the map w = z + 22, where z = x + iy and w = u + iv.

1
(a) Prove that the straight lines x = xq, where xg is a real constant # —5 is mapped into the

parabolas

’U2

(2) u:—m+l‘o(xo+1).

(b) Which curves are the images of y = yo, where yo is a real constant # 0%
1
(c) Find the image of o = —3 and the image of 1o = 0.

(d) Find a straight line x = x1, where x1 s a real constant # xo, with the property that it is mapped
into (2).

(e) What are the image curves of the circles

1 . .
z+ 5‘ =19, where rq is a positive constant?

(a) Since
w=f(z)=z+2" =z +iy+ (x+iy)’ =z +2> —y° +i(y + 2zy),
it follows by a separation of the real and the imaginary part that
(3) ulz,y) =z +2*>—y and v(x,y) = y(1+ 2z).
If therefore z(t) = xo + it, t € R, then it follows from (3) that
u(t) = o (vg + 1) — 2 and v(t) = (1 + 2x0) ¢, t eR,

and the task has now been reduced to eliminating the parameter t.

1
If xg # —g3 then t = #, hence by putting this into the expression of u gives (2), thus
Zo
LA ER\{ 1}
U= ———"—""35 T 2o (Lo s Zo 5 (>
(+220)? 2
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1
(¢’) We note that if 2o = —g then

1 1 1
u:—§<—§+1>—t2:—1—t2 and v =0, t e R,

1
and the image is } —00, 4} run through twice, and we have answered the first half of (c).
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(b) If instead z(t) =t + iyo, t € R, yo # 0, then it follows from (3) that
ut) =t +1* — o3, v(t) = yo(1 + 2t).

When we ¢ eliminate from the last equation, we get

1
_<11>’
2 \yo

hence by insertion into the first equation,

42 2y, 4

2 2
1 /v 1 /v v 1 v 10 1 v 1
2 (yo ) 4 (yo T 2y 2 0
which again is a system of parabolas.

(c”) If yo = 0, then

1\ 1
u(t)_t+t2_<t+§> -7 ad  0v=0  t€R

thus the interval {Z, +00 [ is run through twice, and we have answered the latter part of (c).

1
(d) If 2 = 21 # x0 and zg # 3 shall be mapped into (2), then the parabolas must have the same

vertex, i.e.

T —|—1 2—3— T +l 2—1—x2+x

0 0 — 0 2 4 - 1 2 4 — 4 1-
Hence
2 2
1 1

02(”””5) ‘(”””5) = (w0 + a1 +1) - (20— 21).

It follows from 1 # zo that 1 = —1 — x¢. Using this value we get

(14 221)% = (1 —2—2x0)* = (1 + 210)°,
and we conclude that the two parabolas are identical.

(e) Finally, we shall find the images of the circles

1
Z+§’:T0>O

It follows from
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hence

112
2+ -

.2
2| ~ o

1
w — | =
4

1
and the image curve is the circle of centrum 1 and radius r2 run through twice.
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7 The polar Cauchy-Riemann’s equations

Example 7.1 Prove that the complex function f(z), which is given in polar coordinates (r,0) by

0 0 '
f(,z):\/F-cos§—|—i\/7_°-sim§7 z=re?,
is analytic in the sliced domain
Q={z=re? |reR;,0e]-m,n[},

where we have removed the closed real negative axis. Then find its derivative.
Given that 0 does not belong to the domain 2, and that

u(r,0) = /1 - cos g and v(r,0) = \/r - sin g,

are of class C* in this domain, we shall only check that the Cauchy-Riemann equations in polar
coordinates are satisfied. We get

Ou_11 0 16w _11 0
ar 2 2’ r oo 2.\r 2’
1ow 11 .90 w_11 .90
ro0 - 2 a2y

and it follows that the polar Cauchy-Riemann equations are fulfilled, hence f(z) is an analytic function.

The derivative is given by

0 [ Ou ov ; 1 0 1 0
/ o —i0 . _ b W ' in —
fi(z) = e (—6r+2_8r) e (2 TCO§2+Z2\/F 81112)
0 1 1 1 1

11, ( ) 1 1
= ——=ec¢ "expliz]|=2—F4" =" i g~ 5 .
2 \r 2) 2.r exp(ig) 2 JF cos 4 iy sin 2 f(z)

Remark 7.1 This is in fact the polar definition of the analytic function f(z) = /2 with the slit along
the negative real axis. ¢
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Example 7.2 Prove that the complex function f(z), which is given in polar coordinates (r,0) by
f(z) = e" <% cos(r - sin ) + i e” Y sin(r - sin 6)

is analytic in the domain
Q={z=re’|reR;,0e]—mn[},

and find its derivative.

It follows immediately from = = rcos@ and y = r - sind that
f(z) =e®cosy +ie”siny = e*(cosy + i siny) = e”e¥ = €7,

thus f(z) = €* is analytic with the derivative

ALTERNATIVELY we prove that Cauchy-Riemann’s equations in polar coordinates are satisfied. First
note that 0 does not belong to the domain. Then by a separation of the real and the imaginary parts,

u(r, ) = e" <% cos(r sin 6), v(r,0) = e" Y sin(r sin ),
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where both functions are of class C*°. Then by a differentiation,

ou

% = cosB - e” Y. cos(r sinf) —sin @ - e” %9
10 1 1
;8—2 = ;~r(fsin0)e7“°059~sin(r sin0)+;'rc059~e
1 Ju 1 1
222 — Z(—rsinb) - 7 cosf | ino — _rcosf
5 r(rsm)e cos(rs1n)+re

0

8_: = cosf-e" %Y . sin(r sin ) 4 e” ¢

and we have proved that f(z) is analytic. The derivative is given by

o [ Ou ov
/ —i0 ) ¥ - Y
Fz) € { or T or }

= e " {cosf-e" “*? cos(r sinf) —sinf - e

r cos 6

+i cosf-e -sin(r sinf) +ie

-sin(r sin @),

-8in 6 - cos(r sinf) = —

T cos 6

r cos 6

ou

-cos(r sinf) = —,

or

-1 cosf - (—sin(r sinf)),

Lo
r 00’

-sin(r sin @)

-sinf - cos(r sinf)}

= e {(cos + i sinf)e" s cos(r sinf) + i(cos § + i sin@)e” ¢ . sin(r sin 0)}

= e . e e cos(r sinf) +ie” “*?sin(r sind)}

= f(2).

Example 7.3 Prove that the complex function f(z), given in polar coordinates (r,0) by

f(z)=rcos -Inr —r0 sin@ + i{r sinsinb - Inr + r6 - cos 0},

is analytic in the domain
Q= {z=7‘ei0|reR+, 06]—71',77[},

and find its derivative.

The domain 2 does not contain 0, and both functions

u(r,0) = rcos@-lnr—r0-sind,
v(r,0) = rsinf-lnr+r6-cosb,

are of class C°(2). Hence, we shall only check the Cauchy-Riemann equations in polar coordinates.

We have

ou .
— = cosf-Ilnr+cosf — 0 -sinb,
aor

1 0v ) ou
98 = cosf-Inr 4+ cosf — 0 -sinf = 5

Lou
r 00
ov 1 ou

> = sinf-Inr +sinf + 6 - cos = %0

= —sinf-Inr —sinf — 0 - cos b,

99
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so the polar Cauchy-Riemann equations are fulfilled and hence f(z) is analytic in €.

Finally, the derivative is given by

o [ Ou ov
/ _ —i0 ) X - Y
Je) = e { or o or }

e " {cosf-Inr+cosf — 6 -sinh +i(sinf-Inr +sinh+ 0 - cosf)}
= e Inr(cosh+isinf) 4 (cosf +i6) +i0(cosf +i sinh)}

= (Inr+1+if)e ®(cosh+isinh) =1+ Log z for z € Q.

Remark 7.2 Tt is also here possible to find the exact expression of f(z) in © as a function in z. In
fact, if z € Q, then

f(z) = rcos-lnr—r0sinfd+i{rsinfd-Inr-+r6 cosfd}
= rlnr-(cosO+isinf)+ir6(cos+isinb)
= rinr-e? +irfe’? =re(Inr+if)

= zLog z. O

Example 7.4 Sketch the curves u(x,y) = constant and v(z,y) = constant in the domains of the
following functions:

(a) f(2)= 23, (b) f(z)=¢€, () f(z) = Log =.

(a) We have in rectangular coordinates
f(z) = (@ + i)’ = 2° = Bay® +i {32y — o’}
thus
(4) u(z,y) =a® =3sy®,  w(z,y) =32y —y°,
If we instead use polar coordinate, then
f(z) = r2e*® =13 cos 30 4 i3 sin 36,
hence
u(r,0) = 3 cos 36, v(r,0) = r3sin 36.
Empirically the treatment of systems of curves of e.g. the form

u(z,y) = c,

is often causing some difficulties. Hence we shall go through this example in more detail than
usually. We shall restrict ourselves to consider only the rectangular version (4).

First we consider the curves u(x,y) = ¢. If we insert a point (z,y), we only obtain one value of
the constant ¢. Hence we conclude that curves belonging to different values of ¢ do not intersect.
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Figure 46: (a) The system of curves u(z,y) = c.

Let ¢ = 0. Then the equation is written as follows:

1 1 1
0=x3—3x2:—3x<2—x2>:—3m< —x><+x>.
! E SRV R ARV

Hence, the solution set for ¢ = 0 is the union of the three straight lines, given by the equations

0 ! d !
x =0, =—2x an =——

Y /3 Y /3
which intersect at (0,0). Any other curve of the type u(x,y) = ¢, ¢ # 0, is now confined to one
of the six open angular spaces. Furthermore, the lines corresponding to ¢ = 0 must be asymptotes
for any other curve u(z,y) = ¢, where ¢ # 0.

z,

Figure 47: (a) The two curve systems u(x,y) = ¢ and v(x,y) = ¢o are orthogonal in C\ (0,0).

For the time being we shall neglect the vertical line x = 0, which requires another though analogous
treatment. Hence, we shall consider the lines
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and the corresponding angular spaces. Let (xg,yp) be a point on the claimed asymptote, and let
(x,y) be a point on the curve. Then

x5 — 3zoys =0 and 2® — 3xy? = c.

If we here put x¢y = z, it follows that the distance from the curve to one of the lines is smaller
than or equal to either

1y — ol or ly — (=vo)| = v + yol -

Therefore, we shall only prove that one of these two distances tends towards zero, when = = xg —
+o00. When we subtract the two equations, we get

3:EO (y2 - y(2)) =¢

thus

2 02| =y — el - _|£
v = w3 =y — ol - ly + wol ‘3%"

Since the right hand side tends towards zero for o — £00, at least one of the two factors |y — yo|
and |y + yo| will tend towards zero by the same limit, and the claim is proved.

Then we threat the v-curves, either in the same way, or by using that the v-curves are orthogonal
to the u-curves. A third method is simply by the symmetry to interchange = and y.
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(b) We have in rectangular coordinates
f(z) =e"cosy +ie”siny,
hence by separating the real and the imaginary part,
u(x,y) = e cosy, v(z,y) = e“siny.

In this case it is very difficult to handle the polar description, so we shall only consider the
rectangular version.

We first investigate the u-curves
e®cosy = c, ceR.
If ¢ =0, then cosy = 0, and we get the horizontal lines

s
y=§+p7r, pE .

The curves corresponding to ¢ # 0 must now be restricted to the horizontal “strips”, defined by
the curves corresponding to ¢ = 0. If ¢ # 0, it follows from the equation

e’ cosy = ¢,
that cosy and ¢ must have the same sign, thus

ye}—g+2pw,g+2p7r[, peZ, ifc>0,

and

3
ye Bmpw, §+2p7r[, pez, ife<0.

One may say that every second of the horizontal strips belong to positive ¢, and every second to
negative c.

The point is that the equation can now be written, such that x is expressed as a function of y.
This is due to the fact that Arccos is a somewhat difficult function, while cos is not. If ¢ and cosy
have the same sign, then

c
x:ln( )
cosy

The minimum of z is obtained when |cosy| = 1, corresponding to y = qm, ¢ € Z, and z = In|c|.
We note that this minimum is negative, if |¢| < 1. If y approaches one of the boundary “curves”,

T
:|:§ +qm, q € Z, then the denominator tends towards 0, thus x — +00. Hence, the horizontal lines

y::tg—kqw, q €,

corresponding to the system of curves for ¢ = 0, become the asymptotes. It follows from

2z =1In|c| — In|cosyl,
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15

— =

Figure 48: (b) The curves u(z,y) = c.

that all curves in one “strip” is obtained from z = —In | cos y| by a translation of the amount In |c|.

Finally, the v-curves are either obtained in the same way by noticing that

iy =cos (5 —v) =eos (v- )
siny =cos (- —y) =cos(y— =
Y 5 Y y=3)>

. . LT .
so the v-curves are obtained from the u-curves by a translation of the amount i 5 Alternatively,

one may again apply the orthogonality of the u-curves and the v-curves.

Figure 49: (¢) The orthogonal curve systems u(z,y) = ¢1 and v(z,y) = cs.

(c) In this case it is most convenient to apply polar coordinates,
f(z)= Log z =1Inr+10, r>0, 0¢€]—mnl,
thus

u(r,0) =Inr and v(r,0) = 0.
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The curves u(r, 0) = ¢ are the circles r = €, and the curves v(r, ) = ¢ are the half lines § = ¢ €
| — 7, 7], where we usually include § = 7w, which gives a discontinuity in the function Arg z.

The point z = 0 is a singular point.

We interpret this situation as the model of a point source at z = 0, where the v-curves denote the
streamlines and the u-curves denote the equipotential curves.

1
Example 7.5 . FLOW AROUND A CORNER. Given a real constant ¢ > 3 If z € C\ {0}, we define
Log*z by

Log*z = In|z| +i0,

where 0 is the argument of z, z = €', for which 6 € [0, 27][.
Consider the complex potential

F(z) =2 = eclog’z,

Write z = re*?. Prove that the half lines § =0 and 0 = T are streamlines.

c
(Hence, the pattern of the flow does not change, if we put barriers along these half lines).

Sketch the streamlines in the sector 0 < 0 < T in the following three cases,
c

Figure 50: (a) The streamlines for ¢ = 4.

First compute
F(Z) — ¢ .= ecLog*Z — ¢ Inr+ich _ re. {cos(c@) +i SiH(C@)},
which shows that the streamlines are given by

Y(x,y) =Im(F(z)) = r°-sin(cl) = k,
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3 2 ] 0 1 H 3

Figure 51: (b) The streamlines for ¢ = 1.

2
Figure 52: (c) The streamlines for ¢ = 3

where
Y

If 8 = 0, then
Y(x,y) =rsin0 =0,

and if 6 = % < 2, then
P(z,y) = rsin (c~ z) =0,

C

which proves that these half lines are streamlines, and the first claim is proved.

(a) If ¢ =4, then 0 € [0, %}, SO

rtsindf =k > 0,

s
which corresponds to a flow in an angular sector, in which the angle is 1
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(b) If ¢ =1, then 0 € [0, 7], and we get
r-sinf=y=%k2>0,

corresponding to a parallel flow.

2 3
(c) Ife= 3’ then the requirement is that 6 € {0, 771 , and the corresponding equation becomes

2 2
isin(Z0)=k>0
o (20) <120

which we interpret as the model of a flow around a rectangular corner.

__ You could be one of our future talents

o ] -

MAERSK INTERNATIONAL TECHNOLOGY & SCIENCE PROGRAMME

Are you about to graduate as an engineer or geoscientist? Or have you already graduated?
If so, there may be an exciting future for you with A.P. Moller - Maersk.

www. maersk.com/mitas

Download free books at BookBooN.com

MAERSK

107


http://bookboon.com/count/pdf/364492/107

Complex Funktions Examples c-2

The polar Cauchy-Riemann’s equations

Example 7.6 Let f(z) = u+iv = z+ Log z be defined in the domain

Q={ze€C|Im(z) > 0}.

Sketch the curves u(z,y) = constant and v(z,y) = constant in 2.

-3

-2

Figure 53: The curves u(z,y) = constant in Q of Example 7.6.

Figure 54: The curves v(z,y) = constant in Q of Example 7.6.

Since

1
z+ Logzx+§1n(ac2+y2)+i{y+ Arccot <£)}
Y

for y > 0, we get by separation of the real and the imaginary part that

1
u(z,y) =z + 5 In (ac2 +y2)
and

v(z,y) =y + Arccot (%) .

108
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If we put u(z,y) = ¢, then we get by solving with respect to y that
y2 _ 620729: o 1'2 _ 0672:10 o 5132, y > O,

where we have put C' = e2¢ > 0.
Analogously, from v(x,y) = k we get by solving with respect to z that

x=1y-cot(k —y).

Example 7.7 Let
F(z) = cLog(z — a) 4+ cLog(z + a),

where a, ¢ € Ry are given constants. We consider F in its domain € as a complex potential. Find
the streamlines and the equipotential curves of F in Q.

This example can be interpreted as the model of two sources of the same strength at the points z = a
and z = —a.

Obviously, we may choose ¢ =1 and a = 1, so we only consider

F(z) = Log(z — 1)+ Log(z+1), ze€C\ (] — o0, 1]),

where we must be aware of the branch cuts of the two principal logarithms. A separation into real
and imaginary part gives

u(z,y) =In|z —1|+In|z + 1| = In|2* - 1|,
and
v(z,y) = Arg(z — 1)+ Arg(z+1).
The curves
u(x,y)zln’z2—1|:k, thus lz—1| |z + 1| =¢,

are the so-called Cassini’s rings. These are the equipotential curves. 1 have not been able to let
MAPLE give some reasonable sketches, so they are here omitted. On the other hand, it is easy to
sketch the streamlines by using MAPLE, and then we may use that the equipotential curves are
orthogonal on this system of curves.

It follows from

v(0,y) = Arg(—1+iy) + Arg(l +iy) = +m,
that the positive and the negative y-axis each form a streamline.
Since

t( n ) cotu-cotv—1
cot(u+v)= ———
cosu + cotwv
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Figure 55: The streamlines v(x,y) = c.

and since for x # 0 and y > 0,

v(z,y) = Arccot <x1> + Arccot <x+1> =c€]0,n[U]m, 27|,
Y Y

it follows for y > 0 that

y y e O t
$—1+CL‘+1 o 2x B me = cotG
y y

x—1 41 . 2 -1

which we also write
z? —y? — 2zy cot e = 1.
This expression is extended by the obvious symmetry to the lower half plane. Hence the curve system

becomes a system of hyperbolic arcs with the y-axis as one of their asymptotes, and where they all
pass through either (1,0) or (—1,0). We shall of course add the lines = —1 and = = 1 to this system.
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8 Cauchy’s Integral Theorem
Example 8.1 Integrate e* along a plane and closed curve C, which is composed of the interval C7 :

[—1,1] on the real axis and the half circle Cy of the parametric description z(t) = e, t € [0, 7.
Then find the value of fcz e*dz, and apply the result to prove that

/ et . gin(t +sint) dt = 2 sinh 1.
0

-0.2

Figure 56: The closed curve C with its orientation.

Since C' is a simple, closed curve in C and e” is analytic in all of C, it follows from Cauchy’s integral
theorem that

fezdz:/ ezder/ e“dz = 0.
C Cq Cy

Hence,

a T
/ e?dz = / ecostrisint ; it g0 4 / £Cos tez(t+sm t) dt
CZ 0 0

z/ et . {cos(t +sint) + i sin(t + sint)} dt
0

—/ eCOSt-sin(t—i-sint)dt-i-i/ e - cos(t + sint) dt
0 0

1
7/ ede:,/ e””dx:f[e"”]l_l:fQSinhlJrioO.
Cy —1

Finally, by a separation into real and imaginary parts,
/ et . sin(t + sint) dt = 2sinh 1,
0
and

/ e“St . cos(t +sint) dt = 0.
0
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Example 8.2 Compute f;“ (24322 + 423) dz.

It follows by inspection that
F(z) =224+ 23424

is a primitive of f(2) = 2 + 322 + 423, thus

14i
/ (2432 +42°) dz = F(1+1i)—F(1)
1

= 20+ + 1+ +Q+d)*-2-1-1
2+ 20+ 2i(1 + 1) + (2i)> — 4
24242 —2—-4—4

= —8+44i.
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9 Cauchy’s Integral Formula

Example 9.1 Compute the values of the line integrals

Z+2 1 234322 — 4
(a) 71_1 a0 ﬁm - U 7|{|—2 261

The method here is that first we decompose and then deform each integral into the line integral along
some circle.

(a) Tt follows by a decomposition that

z+2 z2+2 11 3 1

2(4—2) 2(z—4) 2 z 2 z-4

The function

1 is analytic inside |z| = 1, hence

1
dz=0
fz|_1z—4 i

by Cauchy’s integral theorem.
Now,

1
]{ —dz =2mi,
|z|=1 %

z+2 1}{ 1 3}{ 1 1 . .
———dz = = —dz — = dz= - -2mi+0=mi.
fz|—1 2(4—2) 2 |z]=1 z 2 |z]=1 z—4 2

(b) A decomposition gives

SO

1 1 1

2(z—1) PRl

When we “reverse” the path of integration (indicated by a x) and then deform it into some circle
we get

* * *
y{ #dz % (—1> dz—&—]{ ! dz
2|=2 2(2 — 1) lz|l=2 \ % lz|=2 2 — 1

d d
+?{ —2—7{ S —ori—2mi=0,
|z|]=1 # lz—1|=1 % — 1
hence

1 * 1
4= —7{ =0
%4—2 z(z—1) 2|=2 2(2 — 1)
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(c) Since the numerator and the denominator have the same degree, and since z = 1 is a root of both
the denominator and the numerator, we must be careful here, when we decompose. We get

2 +322 -4 (PH4z+4)(z-1) Pdetd o4
2(z—1) 22(z—1) B 22 B z 22

Here f1(z) =1 is analytic inside |z] = 2, so

% 1dz =0.
|z|=2

4
Furthermore, fa(z) = - is differentiable in 2\ {0} with the derivative

4

4 4
so — has the primitive ——, and we conclude that
z z

4
]{ —dz=0.
j2=2 #°

Hence,

54322 4 1 4
f Zj;dz:f 1dz+4f —dz+]f S de=0+44-21i+0=8ri.
2=z 22(z—1) |2|=2 2|=2 Z |2|=2 #

Example 9.2 Assume that f : [0,+00[— C is continuous and that f(t) = 0 for t > R. Prove that
the function L{f}, given by

+o00o
L{fHe) = / f(t) et

is analytic in all of C.
Assume that [ : [0,+oco] — C is continuous and that there exist constants A, B > 0, such that

|f(t)] < AeBt for every t € [0, +00].

Prove that one can find a 0 € R, such that the function

+oo
L{fHe) = / f(t) e dt

is analytic in the half plane Re(z) > o.
We call the analytic function L£{f}(z) the Laplace-transformed of f. The smallest real number oy,
for which L{f}(z) is analytic in the half plane Re(z) > oo, is called the abscissa of convergence.

When f : [0,400[— C is continuous, and f(¢) = 0 for ¢ > R, then the support of f is compact, so
| £(¢)], which is also continuous, must have a maximum. In particular, f is bounded,

fOl<M for every t > 0,
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and we get for every fixed z € C that

We conclude that £{f}(z) is defined for every z € C.

+oo R ) R
/ f(t)e dt‘ < M/ ]e*@“yﬁ’ dt = M/ e " dt < +oo.
0 0 0

Since the integrand f(t) e *! is continuous in ¢ and since the derivative with respect to the parameter
z is continuous and absolutely integrable, it follows that £{f}(z) is continuously differentiable, and

its derivative is

+ooa

Zene - |
which proves that £{f}(z) is analytic in all of C.
Then we assume that

|f(t)] < AePt for every t € [0, +00].

If o > B, then we get for Re(z) > o that

so the Laplace-transform exists for every z, for which Re(z) > o.

+oo
2 {fitye "'} dt = —/0 t f(t) e *t dt,

+oo —+o00 R —+0o0
/ f(t)e *t dt‘ < / AeBt e thel@) gy < A/ el B gt < 400,
0 0 0

When we differentiate the integrand with respect to the parameter z, then

a —zt\ __ —zt
E{f(t)e b=—tft)e "

If Re(z) > o > b, then we have the estimate

9 —zt
9 {ft)e ™'}

§AteBte_”t:Ate_(‘7_B)t, t>0.

0
It follows from the magnitudes that % {f(t)e *'} has an integrable majoring function, thus we
2

conclude that £{f} is complex differentiable (and even continuously differentiable) for Re(z) > o.

This proves that £{f}(z) is analytic in the half plane Re(z) > o.

Example 9.3 Prove that

> (oo ()1}

n=0

defines an analytic function f:C — C.

If we put

fue) = (3) 1,
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then f,(z) is analytic in all of C.
If |z] < R, then

Fal(2)] < exp (R) _1

nl

so if we can prove that the series

> (oo () 1}

is convergent for every R > 0, then it follows that

+oo
F(2)=) fal2)

n=0
is uniformly convergent on every compact subset of C, and the claim is proved.
Then we have for every fixed R,

R’Il
— =0 for n — +o0.
n!
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Thus, we can find an N, such that for every n > N,

R" R"
exp( ><1+2—
n!

Then

< EllE) - E () S

n

S ST CSTE S K 2 (1. B PR

n

and the claim is proved.

Remark 9.1 It follows that the derivative is given by
+oo n—1 n
ron z z
PO =3 oy o ()

In this case it is easy to prove the uniform convergence over compact subsets. In fact, if |z| < R, then
we can find an N, such that

exp(z )‘<M for |z| < Rand n > N,
n!

thus
+oo n—1 n +oo n
R
> mexp( >§M > B Mo 0
n=N+1 n=N-+1

Example 9.4 Assume that f is analytic in an open domain Q. Define Q* by
={z|zeQ},

and a function f* on Q* by
() = f(@).

Prove that f* is analytic in Q*.

Obviously, f* is continuous and of class C*° (Q*). Write f = u + iv, i.e.
f(z) = ulz,y) +iv(z,y).

Then
f(2)

u*(@,y) +iv*(z,y) = f(2)
[z —iy) = u(z, —y) —iv(z, —y).
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If (z,y) € Q*, then (z, —y) € 2, and we obtain by partial differentiation,
ou* ou

%(m,y) = 8—36(307—?%)7
%_Z(x,y) = —(%{U(x,—y)}z-i-g—Z(%—y),
Moow) = Lotuta v =)
O ) = L) = - L.

hence
G = Gheen =g = @),
W) = 2w = o) =~ w)

proving that f* satisfies Cauchy-Riemann’s equations everywhere in Q*, hence f* is analytic in Q*.

Example 9.5 Find by an application of Cauchy’s integral formula

1 : 1 244 i
(@) — a0 —¢ T4 (o 7{ M g,
20 Jyag=1 2 — 2 2mi Jiy=1 2 lo|l=4 %

(a) If we put f(z) = e*, then f(z) is analytic in C. Since zo = 2 lies inside the circle |z — 2| = 1, it
follows from Cauchy’s integral formula that

1 e

27TZ ‘2_2|=1 Z — 2

dz = f(2) = €.

(b) If we put f(2) = 22 + 4, then f(z) is analytic in C. Since zo = 0 lies inside the circle |z| = 1, it
follows from Cauchy’s integral formula that

1 22 +4

21 |z|=1 z

dz = f(0) = 4.

(c) If we put f(z) = sinz, then f(z) is analytic in C. Since zo = 0 lies inside |z| = 4, it follows from
Cauchy’s integral formula that

1 sin z

dz = f(0) =sin0 = 0.

21 |z|=4 z
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Example 9.6 Find by applying Cauchy’s integral formula

(a) jl{2=4 (z il + 2—23> dz, (b) j{z=2 22—171dz.

(a) If we put f(z) =1 and g(z) = 2, then

?{4 <z j_ 7t p, i 3) dz = ]{Z|4 z‘_f(i(z_)l) dz + 7&4 %dz =2ri{f(—1) +¢g(3)} = 6.

We have used that the curve |z| = 4 is simple and closed and that the points —1 and 3 lie inside
this curve.

(b) We get by a decomposition,

1 1
L 2 2
22—-1 z—-1 z4+1

Since 1 and —1 lie inside the simple, closed curve |z| = 2, it follows as above that
1 1 1 1 1 1 1
——dz = dz — = dz=—--2mi— - -21i=0.
ﬁ|_2221 : 2}|{z|_221 : 27{_2z+1 FTa g

Example 9.7 Prove by means of Cauchy’s integral formula that for every k € R,

kz

€ .

j{ dz = 2mi.
lzl=1 *

Apply this result together with the parametric description z = €', 0 € [—7, 7, to prove that for every
keR,

/ ek <89 cos(k sinf) df = .
0

If we put f(z) = e**, then f(z) is analytic in C, hence by Cauchy’s integral formula,

ek:z
% dz =271 f(0) = 2mi.
|z]=1 z
Then put z = € to get

6kz ™ ek cos 0+i k sin @ ) T
]{ dz = / ———ie’d) = z/ b 39 feos(k - sin ) + i sin(k sin0)} df
2l=1 # e

—T —T

21

z/ ek <39 cos(k sin ) df = 22'/ ek <89 cos(k sin6) db,
0

—T

because e ©¢ sin(k sin 0) is odd and e* ©3% cos(k sinf) is even in §. Finally, we get

/ ek <89 cos(k sinf) df = .
0
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Example 9.8 Assume that f(z) is analytic in C, and that there exist constants M, R € Ry and
m € Ny, such that

If(2)| < M-|z|™  for|z| > R.

Prove that f(z) is a polynomial of at most degree m.
HiNT: Apply Cauchy’s inequality with n = m + 1 to prove that

M(m+ D! (r + |zo)™
,rm-ﬁ-l

70D (20)| <
for zo € C and r sufficiently large. Then conclude that ™Y (z) = 0 for every z € C.

It follows from Cauchy’s inequality for n = m + 1 that

M'(m+1)!
m—+1
‘f( )(20)‘ Tl

where M’ is the maximum of |f(z)| on the circle |z — zg| = r, and where r > R.
It follows from the assumption that M’ can be estimated by
M <M-[z|™ <M (r+|z2)™,

hence by insertion,
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This inequality holds for every r > ry and for every fixed zy. We therefore conclude that
f(m+1) (ZO) =0,

and thus f(z) is a polynomial of at most degree m.

Example 9.9 Let f(t) be continuous on R. Prove that

L)
o 1L—=zt dt

is a function of z, which at least is analytic for |z| < 1.

Assume that |z] < R <1 and ¢ € [0,1]. Then we have the uniformly convergent series expansion
LI +§ 2"

1—2t v ’

thus by insertion,

01 RiUI 3 (/01 1 (t) dt) o,

n=0

Here we get the estimate

1 1
M
/t”f(t)dt‘SM/ tdt = ——,
0 0 n+1

and we conclude that the radius of convergence of the series is > 1, hence the function

LI,

o 1—=zt

is analytic in the domain given by |z| < 1, and possibly in a larger domain, depending on the structure
of f(t). One should e.g. check for a possible extension, if f(1) =0, and f/(1) exists.

Example 9.10 Assume that f(z) is analytic for |z| < 1. Prove that

%//mglf(x e =0

HiNT: Express the integral in polar coordinates and apply Cauchy’s integral formula.

If we put
r=7-cosl and y=r-sind,
then

%//lzlglf(“iy)dardy = %/(J%{/Olf(re”)rdr}dez%/Olr{/;ﬂf(reie) d@} dr
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Cauchy’s Integral Formula

because if follows for every r €]0,1] by Cauchy’s integral formula that

/O ! f(re®) do =2 £(0).

Turning a challenge into a learning curve.
Just another day at the office for a high performer.

Accenture Boot Camp - your toughest test yet

Choose Accenture for a career where the variety of opportunities and challenges allows you to make a
difference every day. A place where you can develop your potential and grow professionally, working
alongside talented colleagues. The only place where you can learn from our unrivalled experience, while
helping our global clients achieve high performance. If this is your idea of a typical working day, then

Accenture is the place to be.

It all starts at Boot Camp. It's 48 hours packed with intellectual challenges
that will stimulate your mind and and activities designed to let you
enhance your career prospects. You'll discover what it really means to be a
spend time with other students, top high performer in business. We can't

Accenture Consultants and special tell you everything about Boot Camp,

guests. An inspirational two days but expect a fast-paced, exhilarating

Visit accenture.com/bootcamp
« Consulting « Technology  Outsourcing

and intense learning experience.
It could be your toughest test yet,
which is exactly what will make it
your biggest opportunity.

Find out more and apply online.

>
accenture

High performance. Delivered.

Download free books at BookBooN.com

122


http://bookboon.com/count/pdf/364492/122

Complex Funktions Examples c-2 Simple applications in Hydrodynamics

10 Simple applications in Hydrodynamics

Example 10.1 A two-dimensional stationary from of a non-compressible ideal fluid is characterized
by the complex potential
-1+

(5) F(z) = ——.

(a) Using polar coordinates (r,0), where z = re', find an equation of the equipotential curves and
an equation of the streamlines.

(b) Then find the complex field of velocity F'(z), the x and y parts of the real field of velocity V, and
the speed |V| of the field corresponding to (5), where everything should be expressed as functions
in (r,6).

A
The function F1 /() = ——, where ( = £ +1in and A > 0 is a constant, models a field of a dipole

where the dipole is lying in ( = 0 of strength A and of orientation in the positive &-direction.
Find a transformation of the form z =  e'® (where « is a real constant), such that F(z) = F1().
Apply this result to show that the field corresponding to (5) is a field of a dipole. Find the position
and strength of the dipole, and show its orientation on a sketch.

(a) Since
Flz) = “ldi _ —ldd V2 V2B g
“ = z 2 re? oy P ¢
- V2 3T - T
= — ex <<I0>)_ exp<72(z+9)),
we find

3 N 3
o(r,0) = ~- cos (I — 9> and P(r,0) = - sin <I — 0) ;

so the equation of the equipotential curves becomes

2 3
(6)r:£cos T g for k # 0,
k 4
3 s T 5
andzfﬂfierﬂ,thuSHfZorﬁfiforkf().

In (6) the parameter either runs through

3m T 5T
9€:|—Z,Z|: or 96]1,1{7

depending on whether k£ > 0 or k < 0, because we shall have > 0

Analogously we get for the streamlines in polar coordinates,

r%sin(%&) for k # 0,
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and

and 0 for k = 0.

N

In this connection it is not convenient to apply the polar coordinates, because we in rectangular
coordinates obtain

14

. T .y 1 )
— (-1 _ — _

and we get the following equation of the equipotential curves,

—T+y

m—k, kER,

o(x,y) =

and the equation of the streamlines,

T4y
r,Yy)=——"-=% keR.

o
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Figure 57: The equipotential curves are full-drawn lines, while the streamlines are dotted. Further-
more, the orientation is indicated on the straight streamline, and the the orientation in general follows
by continuity.

If £ = 0, then we get the equipotential curves
y=ua,  for(z,y) #(0,0),

i.e. two half lines, and the streamlines
y=—x,  for (z,y) # (0,0),

i.e. again two half lines.
If k # 0, then we get for the equipotential curves that

11 1\ /1)’ 1\°
2,2
- R — —) —9. | =
0 Ayt ky+<2k) +<2k) <2k>
B eri 2Jr 1 27 1 2
- 2% Y7ok V2k)
i.e. a circle with one point removed,

(+ 21k> + (o 21,6) - <\/%k> (2,9) # (0,0),

1 1 1
2k 2k V2k
For the streamlines we get the corresponding circle with one point removed,

(x_ %) ; (y_ %) - (ﬁ) (2,9) # (0,0),

of centrum ( ) and radius

f cent L1 d radi !
ntrum ( —, — | and radius ——
of centru TR aus\/ik
(b) Then by a differentiation,
-1+ 1—1
/ _ —
F(z) = - 22 g2 g2t
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F'(z) = B Q exp (2 (%JrQG)).

r2 e—2i9 r2

We therefore conclude that

V:<?cos(%+29>,Qsin(%—FZG)), r >0,

r2

and then the orientation of the streamlines (the dotted lines) is fixed. Finally,

|V|:|F’—(z)|:\/§ r > 0.

(c) Tt follows from

V2 ™

F(z) = _TeXp(_i<Z+9)):_rexp(i(gJFe))

V2 :_é:Fl/(),

_z exp (z %) ¢

that the strength is A = /2. Furthermore, since ¢ = z exp (z %), the inverse is given by
T
z=C(Ce —i—),
¢ exp ( 4)
which is the wanted transformation.

Since the orientation corresponds to the positive {-axis, it follows that the orientation of the given
i
dipole is 0 = 1
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